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The vernier plate complete with standards  and telescope is sometimes

called the

(A)     Tribrach of the theodolite

(a)     Index frame of the theodolite

(C)    Vernier arm of the theodolite

Alidade of the theodolite

(E)    Answer not known

Q§ITcO6DGPITdschuiLch        cI5|+u        Q6ufr6rf\ufr        §L+ch        eicoL.DL]LiIT6ngH,         6Tchoung

c8|cotpdse5Lju®flpgi?

(A)      9GUITLco6oL+dr (!pdsGdsT6m?d5®

(B)      9GUITLco6DL+dr eionofl®  ©ffl  G\LjLLs5Lb

(c)       gGUITLcO6DL+dr  G\6ufr6rflufr gITrij@

(D)      PGUITL6n6DL+dr  Gpfrd;Gd5ITch

(E)      6flcoL a?flu6flchcoco
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2. In  Tacheometric  surve,ying  the  additive  constant  value  varying  from
in ease of an external focusing telescope.

(A)     10cmto30cm                               (B)  20cmto40cm
jpr   30cmto60cm                             (D)  40cmto70cm
(E)    Answer not known

8:frdsdsdicoG;u::#unche]roTIT&coidiuT=chrog I Hfch    a6uof lip    G\dFqu    QgITco6uGPITdsfl ufldr

(A)     10cmto30cm                               (B)  20cmto40cm
(C)     30cmto60cm                               (D)  40cmto70cm
(E)      6flcoL Q§flu6flchco6u

Which method of contouring is more suitable for Hilly Terrain?
(A)     Square method                             (B)  Cross-section method
joy   Tacheometric method                (D)  Direct method
(E)    Answer not known

a:ITco®LSu§ITroTITdi;ITg7       flcoL]u7LILidit8ds©         6TS§         6u6Dd5u]IT6uT         6fldrflLbH         Lfldidifo

(A)       d=gJ7 cOcOP

(C)       GLd5flGUITQLDLfls5  (!pcop

(E)      6flcoL Gl§flu6flchco6D

(8)   ©ords© Q6uL®  cOcOp
(D)   GPIT+  cO6Utp

4.      A light-house is visible just above the horizon at a certain station at the
sea level. The distance between the station and the light-house is 50 kin.
Find the height of the light-house.
(A)     0.168m                                               (B)   1.68m

{S}    i6n.s8£e¥not known                   Jpr 168.38 in

056i>rijd5cO7    6flond;05LDIT6noj,    d5L6flch    @®Sgal    uITfrds©Lb    Gungu,    Q§IT®OuIT6FTsg6fl®S8]

#fo5aou##.cher£%T%#EL.es£;#di9di%S:diicouENIT:coerITou#:#9P©fo©cOLLHLL.c

(A)      0.168LS                                                        (B)   1.68Lfi

(C)       16.83LB                                                         (D)   168.38LB

(E)      6flcoL  G\?flu6flchco6D
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5.      A line was measured using a tape of 100 in with standard temperature
20°C  against  a  field  temperature  of 40°C,  the  true  length  of tape,  by
assuming thermal expansion coefficient 0.0001 per °C, is

(A)      100.30m
er   100.20m
(C)      100.40m
(D)      100.50m                                                                                                     -/

(E)    Answer not known

2ooc  QOuLjLI   pcO6Dcouds   Q05IT6drL   loo   L§  $6ITcecoLu  pITLITcOouds  Qc5ITdr®,   4ooc

Q6uL]upcO6u    LD®orLb    o.oool   per   oc   QOuL]u    oflflouITds05   ©6m05§cO§uiLb   Q05IT6drL

92fl L§gch  ei6ITdsd5Lj Li LLG\§chpITch  pITLITofl6dr  8L6in6nLDU IT6uT $6ITLb  6TchLlgp

(A)       100.30LB

(8)      100.20Lfi

(C)      loo.40.Lfi

(D)      100.50LS

(E)      6flcoL a?flu6flchco6Df

6.      Which of the following is not the direct reading tacheometer?

(A)    Jeffcott tacheometer
(8)     Szepessy tacheometer                                                                        `

-     (C)     HammerFenneltacheometer

J87    Clinov tacheometer
(E)    Answer not known

£Gg  ad5IT®dss5L]uLLcOoud5anch  6TcOOu   €!p6DLDITes  cLds@GUIT  LBLLcOF  Gp7+uITes  u+dsd5

£u6ungH

(A)        G183OoOLj85ITL  Old;@GUITLBLLfr

(8)      flflQL]fl  GLdsflGurrL6LLfr

(c)       QapLbLDfr  G\u6FTch  GLdsflGUITLfiLLfr

(D)      flof6FTdr  GLdsflGUITL6LLfr

(E)      6flcoL O§flu6fld)co6D

CECE/2024
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7.       The rule which used to compute  area / volume of a surveying traverse
accurately is

Simpson Rule
(C)     The Mid ordinate Rule
(E)    Answer not known

(8)  Trapezoidal Rule
(D)  The Average Ordinate Rule

Pco   eionco6uufld>    u7Liuon6H    LD®grLb   QdiITdrononqu   s56mds@®Lb   (!p6npuflch   ££dsdidrL
6TS§  oflgufldru+    G\LjpL]u®Lb  (!p+q65dr 8jch6fluLDIT6FTcO6u 7

(A)      flLbo=dr 6flg                                                   (B)   pITpd57 6fl?

(C)       LD$9u  ®®riJ©  Ofl9                                  (D)   5=ITITd=fl  ®®riJ©  Oflp

(E)      6flcoL Q§flu6flchco6D

8.       The  permissible  error for  measurements  with  chain  on rough  or hilly
ground is
(A)     1in2000                                          (B)   1inl50
{Pr   lin250                                          (D)  1in200
(E)    Answer not known

\

G\d=ITITG\o=ITITL]LjIT6FT       e]ch6ogp       LDco6oL]Li©9ulch       6=riich6flcou       coou§gi       ey6ITdscod5tlf\ch

e]g]LDgdss5L]LILL  Lflcop  ©chou6ITqu  qb©Lb.

(A)      2o00@chl                                              (B)   15o@chl

(C)      250@chl                                                   (D)   200@chl     \`

(E)      6flcoL Q§flu6flchco6D

The  magnetic  bearing  of  a  line  AB  is  S  28°30'E.  Calculate  the  true
bearing if the declination is 7°30'west

4#   S36°00'E                                     (B)  S36ooo'W
(C)     S21°00'E                                         (D)  S21°00'W
(E)    Answer not known

AB   6Tchp   ®®   eionco6u   Gc5ITL+6ir   d5ITS§   gco6:ds   G65ITdr   s   28o3o'E   LD®orLb   05ITSg

@pds55Lb  7o3o'w  6T6rflch  G55ITL+6ir  8L6dr6nLDUIT6ur  pcO6=dsG55ITdr

(A)     S36°oo'E
(C)     S21°0o'E
(E)      6flcoL Q§flu6flchco6D
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10.    If a circular shaft is subjected to a torque T and a bending moment M,
the ratio of the maximum shear stress to the ' maximum bending stress
is given by

or
(C) (D)

I
Zfiz
M
ZF

(E)    Answernotknown   ,

®®   gL®cO6ITiLiIT6FTgp   `F.   6T6drp   (!pgrds©   6flcod=ds©Lb,   `J14''   6Tchp   (!p®dsdi   OucO6IT6fl®©Lb
gLLL|®§?LjL|®Lb  ±uflch,  a§6ir  9gc5LiLc  pgrds©§  ?cod56fl®©Lb' apd5LjLc  ce®dses
Ou coon6fl®©Lb  8Ldron  oflflgLD IT6no]

(C)

(E)      6]§\coL a?fluoflchco6D

11.

P

If   cr], cr2  and  cr3  are the principal stresses dt a point in a material for
which  cr£*  is the principal stress in simple tension at elastic limit, then,
for the failure of material.

UAI)   let-a)> dit                           Of let-aJ2ctt
(C)       (O] -Cr2 -Cr3)2Cr,*                                   (D)   (Cri -Cr2)2 Cr£*

(E)    Answer not known

®®   G\urT®drflch   ®®   Lidrofufldr   (!pgdrcoLD   gcos56L|Sdr   (!pcopGu    cr[, cr2    ro®guLb    o3

LD®9»Lb   c7£*   6TdrLjgp  O=IT§ITIT6m  a([pcOOuufldr  Sdrcoou  6LiITLbLfl6ir  (p§chcoLD  ?cO05qu  6T6rf\ch,

c9lfb§  QUIT®6Tflch  cfl£6H

(A)       (cr]-cr3)>Cr£*

(c)      (cr]-cr2-cr3)2of*

(E)      OflcoL Q§fluoflchcoco

7

(8)    (cr[ -cr3) 2 Cr£*

(D)   (Cri - Cr2 ) 2 Cr£*

CECE/20,24
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12.    Determine  the  torsional  moment  of the  shaft  transmits  736  kw @  at
200 rpm.

4gr   35.14MN.mm                                (B)  45.13 MN.mm
/

(C)     55.14MN.mm                                 (D)  65.15MN.mm
(E)     Answer not known                                                        J

Sgch§%:ITfl%%IT®£ITfuliL6ffl§g®a%2enoocedigrp%gfg#g#LBLgrLbGuITgr&®OuITds©fo.,

(A)     35.14riN.mm                                (B)  45.13MN.mm
(C)     55.14MN.mm                                 (D)  65.15Miv.mm
(E)      6flcoL G1§flu6flchco6u

13.    A   simply  supported  beapr   is   loaded   as   shown  in  the   figure.   The
maximum shear force in the left support of the beam will be  .

(A)     Zero

(E)    Answer not known

L]L§pch   diITLLLjLj+®dr6IT.Litry   ffIT§ITIT6mL.DITdi   §ITrijdiL]uLL   6flLL§gch   ch6nLD   8Ldr6ngj.
oflLLsgch  c9+gc5uLff pord5©  oflcog 6Tdrouon6H  £®d;©Lb 7

L

(A)     gfuLb        ,
(C)     2W
(E)      6flcoL a?flu6flchco6D

CECE/2024 8
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14.     Which method is also known-as method of singularity function?

&  Boa::I:;niee:Laotjon method     (8) frooniue#:r::age:heotdhod
(E)    Answer not known
6TS§  (±p6np  ®®6DLD  ao=uchLj`IT®  (!pcOp  6TdrorLb  c9icot9dsd5L]Lj®flp8H 7

(A)      £7LenL g®riJflco6mL]Li  cecop         (B)   @co6mS§ d5®cop  (!pcop
(C)       QLDS595ITG6D  (!pcop                                            (D)   056mLb  il©9  (!pcop

(E)      oficoL Q§rf\uofichcoco

15.    A Cantilever beam is 2 in long. The cross section of the beam is hollow
square  with  external   sides   60mm   and  internal  side  is   such  that.
I = 6xl05 mm4.  If safe  b'ending  stress  for the  material  is  100 IV/mm2,,
then safe concentrated load at the free end would be
(A)     400N                                                (B)  500N
tc)     6OON                                      .       tgrioooN
(E)    Answer not known

®®   Q§ITrfu©   8LsgFLb   d5®cOp   2   in     SonLb   Q05ITdrL8H.   8LsgITSpch  ©ords©   G\6uL®
8Ldr    Q6u®or    O=8]7LDITd5    8Ldr6IT8i.     Q6uofL]Lip     udsdirijd5dr    6o  mm         LDfD8uLb    82_drLip

uds55LDIT6FT8H      I = 6 x io5  inm4,     QLjIT®t€555©     ungd05ITL]L]IT6FT     6ucO6ITds©Lb     c9ices§Lb

loo Jv/ m77®2  6T6{rf\ch,  a§6ir  LIIT9id5ITLLIITen  Qd=F@±LLL]LILL  dicoLDufl6dr  96ITqu,  a§ch
Q§ITrii©  ceco6FTuflch

(A)     400N                                                (B)  500N
(C)     600N                                                  (D)  1000N
(E)      OflcoL Q§fluoflchco6D

16.

P

The number of points of contraflexure in a both side overhanging beam
carrying an UDL in entire span                                ,
(A)     0                                                           (8)   1
(¢r  2                                                (D)  4
(E)    Answer not known

92GIT      LDITgfluITd5      u@frSgof65d5L]Lj®Lb      g+6u7LD856Don     SITrfu@a      QdiITdr®      ©®LipceLb
QgITrfu©Lb  8LSggTSpch  9®u®Lb  (!p®d85Lb  G6ugru®Lb  Lidrofl65oflch  6T6in6ofls56n85

(A)0
(C)2
(E)      OflcoL a?fluoflchcoco

9

(8)1
(D)4

CECE/2024
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17.

18.

19.

I

If the stress produced in the body due to the application of the load, is
beyond the elastic limit, the failure of the body means
(A)     Collapse                                          (B)  Fatigue failure
tor   permanent deformation           (D)  Rupture
(E)    Answer not known

®®  auIT®erflch  a5:8uS§L]L]®Lb  6flcoo=uITch  82_6inLIT©Lb  §endiQi,  c9]S§  G\uIT®ofldr  L6Lfl
6Td>6n606nu  §IT6dr+6uTITch,  ei§6FTITch  82_6drLIT©Lb  QLIIT®oflch  eigivqu  6T6iITLJ5j

tAj      gL®ds©cO6ugch                                             tBj   cflu®fl  cflenqu

(c)      flFSSF 6fl6D05dj                                             (D)   a6u+LjHd5dr

(E)      6flcoL a§flu6flchco60

In Thermal  Stress if the body is  allowed to expand or contract freely,
will be set up in the body.                                `

(?)   gi:;:i:ts:t:r:essfs:eoswn                 & £::tprreessssel:e stresses

G\ouL]LJh.a.@§§rfuTdi^ch,      Q^LJ.IT®coon      e+§S9FLDITdi      6flfloucoLu      cach6Dgi      di®riid5
cg]gj LD9dsd5Ll u LLITch  a U IT®qflch a6nrodsSL]u®Lb

(A)      ©®6fl6D8= `a®SgLb                               (B)   cfH®S§d;ch+u  c9i®SgLb
\(C)      Q6uL® acesgLb                                   (D)  a®SgLb @d>coaj

(E)      6flcoL G\?flu6flchco6o

A  single  force  which  produce  the  same  effect    produced  by  all  of its
component forces is called
(A)     Equilibriumforce                 A        (B)  Equilibrant

(S)   E::o:::dn::rf:own                 jpJ Resultant

gfz ®g9®OnITg,coiffi§%%6flanchcoF%grchofou:;di:cogdsco:::a :.   g® I ®§gr to    of cooncoou
(A)        6=LDFco6D  6flcog=

(C)       u©dsd5L]uLL  6flcod=

(E)       6flcoL  Glgflu6flchco6D
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(8)    6=LD6FT  6flcoo=

(D)   G\§F©uu6dr  6flcoo=



20.     In the calculative of skin resistance y piles in clay, the "c¥" value for soft
clay is

(A)     0.25                                                       (8)   0.5
(or    1.0                                                        (D)  O.70
(E)    Answer not known

55oflLD6in6rflch       8Ldron       ©S8ald505grufldr       GLD®L]ITL]Li       6Tpfr      gpco6FT      y       ds6mdsflL

aLDchcoLDUIT6FT  s5oflLDdr6rfl®©  6T®S8HdsodiITdronL]L]®Lb  "c¥ ''-6ir  LDgL]Li

(A)     0.25                                                      (8)  0.5
(C)      1.0                                                           (D)  0.70
(E)      6flcoL Q§flu6flchco6D

21.    Which type of pile losses the significance under lateral load
(A)    Short pile                                    (PrLong pile
(C)     Strut                                               (D)  Pile cap
(E)    Answer not known

u65056uITL®  di6nLD  e]oflds©Lb  GungH  e+§ch  (!pd5@uS8iouscog ©E9dscBITg  ©§5]j5d5£

(A)      ©grflu  ©S8]dss5gr                                 (B)  SdrL ©§gi65d5£

(c)      §ITrfu©Lb  05gr                                                    (D)   ©SgHd5d5#  e!p+

(E)      6flcoL G\?flu6flchco6D

22.    Piles  are  used  to  protect  water-front  structures  against  impact  from
ships an.d other floating objects are known as    t

j#   Feuder piles                               (B)  Sheet piles
(C)     Batter piles.                                 (D)  Laterally loaded piles
(E)    Answer.not known

d5L]uchdidr        LD®orLb        Lap        L6\§ds©Lb        QUIT®drdioflch        gITds05Sg66l®S8u        Sfr(!pch
05LLcOLDLiLis5coonL]  L]no]65IT65si  6TS§  6u6D05  p6DS8]Tdrd5dr  Hu6iru®S§Liu®flchpen

`   (A)       §®LjLi65diITL]Li  F6D§8]T6drd5dr                   (B)   §d5®  p6DS8Trdro5dr

(c)       6=flQi  FcOS8+Tdre5dr                                       (D)   Hd5e56uITL®  dicoLD  p6DS8+Tdr65dr

(E)      6flcoL Q§fluGfld)co6D

P 11 -CECE/2024
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23.    A shallow foundationis defined as a foundation which has
(A)     depthlessthano.5m
{Pr   depth less than its width
(C)     depthlessthan 1.Om
(D)     depthlessthan2.Om
(E)    Answer not known

©cop¢§  qbg)  esL'dsdiITch  6T6drHco§  ouco7ugjLHgi                                       `

tAj       caoE9Lb  o.5  LfiL+®ds©`©cOpOuITdi  @®S§ch

(8)       65cOLdsdiIT6fldr c=bg)Lb  ei§dr c9idi6D§cO?  ©cOpOuITdi  ©®§?ch

(C)       c%E9Lb  1.0  L6LL®ds©  ©6U)P6uITg5  @®S§ch

(D)      catt9Lb  2.oi LfiLL®ds©  ©cOp6uITes @®S§ch
(E)      6flcoL Qgflu6flchcoco

24.    According to Rankin6's formula, the minimum depth of foundation when
g = 180 kN/m2,  y = 20 kN/m3 and ¢ = 30° is
(A)     0.5m                                                    (B)  0.75m
(or    1.Om                                                  (D)  2.om
(E)    Answer not known
ITITrfuflch  ©SPITsgdr  L]+  ©copS§uLo:  cgi+S§6ITLb  cgicoLDdsdi  G§en6uLjH®Lb  gLUFTScog
956md;@®di  g = 180  kN/m2,  y = 20 kN/m3  LD®grLb  ap = 30°

(A)      0.5  LSLLfr                                                    (B)   0.75  LfiLLfr
(c)       1.o  LBLLfr                                                    (D)   2.o  LSLLfr
(E)      6flcoL Q§fluofldrcoco                                               I

25.     Calculate the quantity of flow having head loss of 10 in, number of flow
channel   is   5,   number   of   potential   drops    16   and   co-efficient   of
permeability is 4.0.x 10-2  mm/s.
tA>     0.Oooii5                                            4gr  o.Oooi25
(C)      0.000135                                               (D)  O.000145
(E)    Answer not known

10     Lfi     §co6D     @gL]Li     QdiIT6drL     ®LL§co§ds     dienrdsfl®di.     ®LLLb     G6:6uTdedsofldr

6T6drofdscod5     5,     6:IT§guLDIT6FT    G\s=ITL®diofch    6T6drdidscod5     16     LD®g|Lb     gL6Tr®®6Lich

©6md5Lb  4.0  X  10-2   LflLfi/oil.

(A)      0.000115
(C)      0.000135
(E)      6flcoL Qgflu6fld)6nco

CECH/2024 12

(8)   0.000125
(D)  0.000145
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26.     A soil has a discharge velocity of 3 x  10-7 in/sec and void ratio of 0.5. Its
seepage velocity is given by

(A)     9m/sec   .

far    9x 10-7m/sec
(C)      9xl0~3m/sec                                                                                                 \

(D)     6x  10-5m/sec

(E)    Answer notknown

®®  LD6dr6rf\ch  G\6uof Gu®p  G6ud5Lb  (discharge  velocity  3  x  10-7 in/sec)  LD®grLb
Q6u®FL   Gflfl§Lb    (void   ratio)    o.5   6T6fldr,   cgHgch   d5aSQ§ITce©§ch    (S-frds   diaQi)

(seepage)  Goug5Lb  d56mdsfl®05.

(A)     9m/sec

(8)     9x 10-7m/sec
(C)     9x  10-3m/sec

(D)     6x  10-5m/sec

(E)      OflcoL G\§fluoflchco6o

27.    If the soil's plasticity index is zero, then the soil would be

4#   Sand
(8)    slit
(C)     Clay
tl

(D)     Clayey silt
(E)    Answer not known

®c  LD6rfu6ffldr  ©cog}Llj  eiLLOucO6m  LDgL]Li  digivuLb  6T6flch,  eiLb  LDdr

(A)       LD6mch

(B)       Ou6drLch

(c)      diof LDdr

(D)       05drflLD6dr  ou6drLch  di6OcOOu

(E)      6flcoL Qgfluofld>coco

13 CECE/2024
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28.     For a soil sample, if the porosity is half of its void ratio, the void ratio is
equal to
(A)     0                                                           (8)  0.5
Ier    1                                                    (D)  2
(E)    Answer not known

QdiIT®dsdiLquLL  LD6rfu  LDIT9fluflch  H6FT7coro   Lico7  6flfl§Sgch  uITg  cBion6uITdi  @®S§ITch,
agch  HcOF  6flfl§LDIT6ngH.

(A)     0                                                           (8)  0.5
•     (C)      1                                                                    (D)2

(E)      6flcoL Q§flu6fld)co6D

29.    A soil have its co-efficient of curvature(Cc) lies between 1 and 3

4#   Well graded soil                          (B)  Poorly graded soil
(C)     Gap graded soil                            (D)  Consistent soil
(E)    Answer not known

®®  Lj]dr e|§6dr  OucO6ITqu  ©6md5Lb  1  LD®grLb  3  ©cOLcu  gLdr6ngi.

(A)      p6ir© g7L]u®S§L]uLL  LDdr                (B)   GroITffLDITdi §FL]u®SgL]ilLL  LDdr

(c)      ©6DLQ6uofl  gFL]u®SgL]uLL  LDdr  (D)   £FIT6{jT  roain.

(E)      6flcoL Q§flu6flchco6D

30.    The  void ratio  at the  densest,  loosest and the natural  state  of a  sand
deposit  are  0.2,  0.6  and  0.4  respectively.  The  relative  density  of the
deposit is                                                                                                                           `

(A)     100%                                                   (8)   75%
fff    50%                                                  (D)  25%
(E)    Answer not known

®®    9Lfr§puIT6FT,    ©6O©OuIT6FT    I.D®9uLb    ©u®cO05uIT6FT    LD6mch    Li+LD§gch   QOu®givL
Ofl@gLb  cpcopGu  0.2,  0.6  LD®gHLb  0.4 6Tof]dj  cg]Sdr ®LiuLSSuflch   c9ionqu

(A)      100%
(C)     50%
(E)      6flcoL Q§flu6flchco6D
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(8)   75%
(D)  25%
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31.    In   a   counter fort   retaining   wall,   the   clear   spacing   between   the
counter forts is  3.5 in.  The unit weight of the  soil retained by retaining
wall is 18 kN/m3. The height of the counter fort is

(A)      1.80m                                                   (B)   1.85m

4er    18.om                                                (D)  18.5m

(E)    Answer not known

3.5   L8   ©cOLQOuerfluflch   genLDdsdiLjLiLL   6Tpfr   cgHIT6in85dr   Q65IT6drL   6Tgfrgrcop   6Licos5§

§ITrij©  di6ufresdr,  18  flp/Lfi3  cgi6D©  u®LDdr  6TcoLuidron  LD6drco6ms  §ITrij©flp5j.  @gde
6Tp fr  c9+ ITdrs5ofldr  8LU FLDIT6u8H ,                                                       ,

(A)       1.80LB                                                             (B)   1.85L8

(C)       18.OLB                                                                (D)   18.5Lfi

(E)      6flcoL Q?flu6flchcoco

32.    When  structures  are  subjected  to  wind  load,  the  corresponding  load
factor for plastic design is

(A)     Increasedby 25%

(8)     Increasedby 50%

jar   Decreasedby 25%
(D)     Decreasedby 50%

(E)    Answer not known

QP@Squ          6u+6ucoLDL]H           ®6npuflch,
6Tp frQ05ITdr6u?®05IT6FT  LI (9  ©6mdiLb  6T6dr6IT 7

(A)      25% thL+55Q65ITdron Goudr®Lb

(8)      50°/o thL+dsG\d5ITdron  G6udr®Lb

(C)      250/o  ©cop$5jd;  G\diITdron Goudr®Lb

(D)      50% ©copsg]ds  Qo5ITdron Goudr®Lb

(E)      6flcoL Q§flu6fldeco60

P
15

d5 LLcO LD L] Li s5dr           di rrpgr i]            LI (ScOOu
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33.

34.

All  compression  members  are  designed  for  a  minimum  eccentricity  of
load in two principal directions. The minimum eccentricity should be

(A)     Zero                                                    (B)   100mm
lfI :)    ic2jf jurf i                                 trf  *ctlf j "m
(E)    Answer not known

aco6FT§gj   gLgrguITon  65IT6drchffL  QLDLbLlfre5(9Lb  ©Fdr®   cpdschu  gcod=d5erflch  g+cOLDufl6ir

©cOpSguLa         (Eccentricity)         6DLDUL]         LgpEpdfl         6u+6LicoLD55diL]L]L®dr6IT6FT.

©cOp¢§LjL6=  6nLj]uL]  Lflpfdfl  (eccentricity)  c9i6ITqu  6T6dr6FT?

(A)      E±gatuLb                                                (B)   1oomm

(C)     }20mm                                          (D)  {20mm

(E)      oficoL a§fluofid>cO6D                                                                             ,

The self-weight of a root truss (N/m2)  may be obtained by

(A)      ('+5)x5

(c)     (,-5)x5

(D,    (:-51xlo
\

(E)    Answer not known

ch6nIT chL®  g2_§pIT§g6dr dim  6T6nL  (N/m2)  d56mdsch®Lb  cecop

(A)      ('+5)x5

B,     (:+51xlo

(c)     (,-5)x5

(D,    (:-51xlo

(E)      6flcoL  Q§flu6flchco6D
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35.    A  method  of prestressing  concrete  by  tensioning  the  tendons  against
hardened concrete

(A)     Pre tensioning
Post tensioning

(C)     Bonded prestressed
(D)    Unbonded prestressed
(E)    Answer not known

di+6FTLDITen  e5IT6ir@ ffLqT®©  6Tg 7ITes  §cog=pIT6drdicoon  ei({p§gHgch  (!pcop

(A)      Lflfl  aLchap6flri]  ((!pdr fcopds65L]uLL)

(8)      GUITch]L QLdrap6flrfu  (Lfldr fcopdsdiL]uLL)

(C)       Lflco6mdsd5LjuLL CB+®SgLb

(D)      Lflco6mdsg5LjuLITg  e+®S§Lb

(E)      6flcoL Q§flu6fld)co6D

36.    In  which   of  the   following
concrete  at  working  loads
sufficiently high pressure?

(A)     Eccentric prestressing
Full prestressing

prestressing   system,   tensile   stresses   in
are  entirely  counter  balanced  by  having

(C)     Concordant prestressing
(D)    Partial prestressing
(E)    Answer not known

®® -05®05ITcO7uflch  pcOLcecop  di6nLDUITch   (working  loads)  9®u®Lb  ©cecoou§cO05qu

(!p(jpou8jLDITd5   gLufr   ei([p§§§§rrch
eip§  (!p6uT§cod5qu  (!pcOp

(A)       coLDuofl6Dds©  (!Pch§cod5qu

(B)        (!p(±pcOLDUIT6FT  (!p6dr§cod5qu

(C)  .    ®SP®Cpch§cod5qu

(D)      L]©p  cedr§cO05qu.

(E)       Ofl6u7L  Q§fluofld)co60

6Tpfra05ITdr6ITLu®LDIT6FTITch   (counter   balanced)
6Tdrgr  c9icog2ds85L] Lj ® Lb
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37.     In built up steel columns the lacing bars should be desig`ned to resist a
total shear force v equal to                                '

{4J    2.5% of the axial force in the column
(8)     0.5% of axial force to be resisted as lateral load
(C)     5% of axial force in column
(D)     1.5% ofaxial force in column
(E)    Answer not known

d5LLcorodsd5LiLi®Lb   gL®65©§   g]Tdrd5qfldr   g2®rfuchco6mL]Li   pITLITg   d=LLrfu05dr   (lacing)

Ou +OucOLDL] LI?®05IT6FT  G\GU L®6flcod=  ei6ITqu  (v)

(A)      2.5% gIToflch cg]ddi e]®§gi6flcod=

(8)       0.5% gjTofldr e+ddt e]ce§galoflcod=  (d=LDgon  6flcoo=)

(c)      5% 8tT6rfl6ir e]ddi e]®$5]6flcod=                                                            i

(D)      1.5% gIT6rfldr addi a®§gi6flcod=                        '

(E)      6flcoL Q§fluoflchco6D                                                i

38.    One bay of longitudinal bracing is provided at the centre of the building,
the length of the covered building section may be restricted to

(A)     loom
(8)     120m
(C)     140m

ffl    ±80rm
(E)    Answer not known

®®  6flfl©LIT  SonLDIT6FT  L9GFflri]  e]coLDL]L9ch  (!pLL]uLL  eel+LL]u©gufl6ir  e+PdiuLtI
SOnLD

(A)       100LB

(8)      120L6
'

(C)      140L8

(D)      180L6

(E)      6flcoL G\§flu6flchco6D
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39.     Creep coefficient for concrete at 28 days age at loading is

(A)      2.6             `                                               (8)   2.2

{pr   1.6                                                       tDj  1.1
(E)    Answer not known

u(€pG6u®pLju®Lb  GUITg,  28  pITLd5dr  6uiLj8jcoLu  55®d5ITcOITuflch  8L6ITfrqu  ©6md5Lb

(A)      2.6.                                                           (8)   2.2
(C)      1.6                                                                 (D)   1.1

(E)      6flcoL Q§flu6flchco6D
A

40.    Effective depth ratio for simply supported beam having span length less
than 10 in

(A)     1b                                                        (B)2b

jBr    1.5b                                                 tD)  2.5b
(E)    Answer not known

10     L§LL®ds©Lb    ©cop6uITen    SonLb    Qg5IT6inL    dFITgITIT6mLDITd5    QHIT®SgLluL+®d;©Lb
8Lsg7§gch L]ii]8prgr   abt9Sgch oflfl§Lb

(A)     1b                                                        (B)2b
(C)      1.5b                                                        (D)  2.5b
(E)      OflcoL  G\§fluofld>co6o

41.    Medium harbor entrance width is

100 to 160 in

(C)     260to300m
(E)    Answer not known

gpcop(!pes§gch  LD§gu,  grco9qu  eid56DLb

(A)      100-160Lfi

(C)      260-300Lfi

(E)      OflcoL a?fluoflchco6D

19

(8)   160 to 260 in
(D)  300 to 400 in

(8)   160 -260 L6
(b)  3oo - 4oo Lfi
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42.     The application of diagram is used to find the orientation of.
the runway to get the desired wind coverage.

(A)     Wind butterfly                              (B)  Wind cycle
(C)     Wind star                                      (giv wind rose
(E)     Answer notknown
6flLDIT6FT    ad    §Onsgch    pcOs=cOu    SfrLjjIT6flds©Lb    dinoF6ir    g2LL    c9i6ITcOOu    dialdsflL
LludrLi®Lb  OucOFLILLb

(A)      85rtyor  oudr6ms8]Lig±a

(c)      dirtyor pLd:Sg7Lb

(E)      6flcoL Q§flu6flchcoco

5=Lfldscod5  gL®ou rrds@6FTITch  el5l

(A)      Q5=uchcpcop

(C)      ©®LJLflL

(E)      6flcoL Q§flu6flchco6D

I

6T6urLjgIT©LD.

(8)   d5rty8H  di®gr

(D)    85rty8u   GgTIT83IT

43.    Detonators contain explosive material and are fixed to the rail by means
of clips, this type of signal is                             t

(gr   operational                                (B)  Functional
(C)     Locational                                      (D)  Special characteristics
(E)    Answer not known
G\Ou+G\LjIT®dr556ITITch     qb6FT     G\Ou+     ©dfldsdr     Lg+LjLjIT6irdidr     (±p6DLb     QLiIT®§§LjuL®

r\   ,                  -                                      ®     f\  .                \                                                                                                                            ,            ,+  -,
6T6urLjLj®Lb.

(8)   Qo=uchL]ITL®

(D)   flpL]Li  u6drLio5dr

44.    For   the   proposed   runway      stated   in   if  the   aerodrome   reference
temperature is 17.2°C, the net designed length of the runway is

(A)    27i6m                                .        jrf 28i6m
(C)     2916m                                                (D)  3016m
(E)    Answer not known

8LSG§fldsdiLiuLL  9®  L]ITcO§ds©,  oflLDIT6FTpcO6Ou  G\6uLLjpco6D  17.2oc  qbo5  @®S§ITed

9®  LjITcogufl6dr  fl55IT  Ouky6ucOLDdss5L]u LL  $6ITLb

(A)      2716L6

(C)      2916Lfi

(E)      6flcoL  Q§flu6flchco6D
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(8)   2816 LB

(D)'  3016.L§

gdi £®ds©Lb.
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45.     The   following   serviceability   rating   is   considered   as   an   acceptable
pavement for the secondary pavement evaluation system
(A)      1.0                                                             (8)   1.5
(¢J     2.0   `                                                       (D)  2.5
(E)    Answer not known

Lgldr6u®Lb  G5=cOOusgpdr  LDgL]Ls®,  @FdrLITLb  FcOcO  pcOLLiITcO§  LDgL]rfL®  (±pcopds©
6T®S8j65diITLLITS5ds  S5®§L] LJ ®flpg|

(A)      1.0
(C)      2.0
(E)      OflcoL a?fluoflchco6D

(8)   1.5
(D)  2.5

46.    The factor which influences the design of curves is
(A)     Speed ofvehicle
(8)    Permissible centrifugal ratio

•   (C)     Max. permissible super elevation

J87    All the above
(E)    Answer not known

6u6m6IT6n6u  o5LLcoLDds©Lb  (!pcop  6TS?  diITIT6Ofluch  ±b9dsd5Lb  Qd=gu§§L]LJ®flpgp

(A)        OuITd56FT§9dr  GOu65Lb

(8)       c9]g]LDgdsd5LjuLL  COLDU  FTfrL]Li  ofl@gLb

(c)      c9ig65  eig]LDgdsd5L]uLL  (!pd5®  gLu7Lb

(D)       GLD®chFu  6Tch6DITLb

(E)      OflcoL Q§flu6fld>coco

47.    Width of standard Broad Gauge (BG) in India

(€)   ::8ommmm                             %::?8 ::
(E)    Answer not known

©S?uIToflch  FcO6DUIT6uT  eis5cO  ©ITuflch  uITcO§undr  eid56i>Lb

(A)       610.LflLB

(C)       1000LflL6

(E)      .OflcoL  Q§fluoflch6utco

P 21

(8)    7620-L61LB

(D)    1676  L61Lfi
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48. Which   regulatory   signs   are   intended   to   convey   definite   positive
instructions when it is desired that motorists take some positive action?

(#   Mandatory      t                            (B)  Prohibitory
(C)     Information sign                          (D)  Direction sign
(E)     Answernotknown  \

a

6uIT;Cur   ®i+65dr   g=fluIT6ur   (!p+quSdr   6T®65©Lb    6ucO85ufld>   GpfrLD6npuIT6uT   g=Lfl'ds6n85d5dr

Qd;IT®L u§®©  cOGut55g;L] Lj®Lb  OucO7(!p6np  6=Lfldsco65c56ir c8©LD.

(A)        ©6iITSu6u>LDUITg  6:L61d;6®0595dr                   (B)   g6nL  G\d=uluL]uLL  8=L6]656no5d5dr

(c)        §056ud>  5:Lfl65cOs555dr                                            (D)   gco5=  d=Lfldscod5s5dr
\

I

(E)      6flcoL G\§flu6flchcoco

49.    In India, the housing and urban Development corporation developed on

(pr    1970                                                    tB>   1976
(C)      1979                                                       (D)   1989
(E)    Answer not known

@SguIT6flch  ofL®6u6:g  LD®orLb  pd5frL]Lip  GLDLbLiITL®65  dsB2e5Lb  ForouLjuLL  c%b6dr®
\

(A)      1970                                                     (8)   1976
®

(C)      1979                                                       (D)   1989
tri)      6flcoL Q§flu6flchco6D

50.    The condition of the building is good through physical survey, then how
long the life of building considered

(A)     5to l4years                                  (B)   15to29years
tor    30.to 49years                               (D)  50to 75years
(E)    Answer not known

53On    qbulofl6dr    {!p6DLb    d5L+L§g6dr    Fence    pchpIT55    gLdr6ITgp    6TchpITd>    d5L+L§gdr
c=bu|Ld5rr6DLb  6Tchouonqu  ©®dsd56DrrLb ?

(A)      5 (!p§ch  14 qbdr®d5dr

(C)      3o  (!p§ch  49 c±bdr®d5dr

(E)       Ofl6utL  Q§fluoflch6n6D
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(8)   15 (p§dj 29 c%dr®g5dr

(b)   50 ce§ch  75 c%6dr®didr
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51.     For new undeveloped areas, the width of set-back varies from
(A)     1.Omtol.5m                                4Ir4.5mto6.Om
(C)      1.5mto4.Om                                   (D)  2.Omto4.Om
(E)    Answer not known

(

Ligu  OuonfrdflucoLUIT§  Li©gdi(9ds©,  G\O=L-GLidschch  eis56OLb  LDITgrLj®Lb  ei6ITqu

(A)      1.Omtol.5m                                  (B)   4.5mto6.Om
(C)      1.5mto4.Om                                   (D)  2.Omto4.Om
(E)      6flcoL Q§flu6flchco6D

52.     The. bermissible  size  of plot  for  low  income  group  should  not  exc.eed

(A)    150m2                                        ¢|80m2
(C)  `  250m2                                                   (D)  400m2
(E)    Answer not known

©copS§      ou®ouITul      Lflfl6fl6IT®dsg5IT6RT      LDco6FTesoflch     a6ITqu
©cOpu ITLDch  @®ds05GOudr® Lb.

(A)I      150L82

(C)      250L82

(E)      6fl6u)L Qgflu6flchcoco

(8)   180 L82

(D)   400 L62

dF8HgTLfiLLfr

53.    The  type  of joint  ensures  stability  of the  components  against  lateral
displacement or sliding
(A)     Buttjoint    .                                  (8)  Crampedjoint
{gr   Dowel joint                                   (D)  Saddle joint
(E)    Answer not known

6TS§    Oucoes    @cO6anL]Li,     uds056uITL®     @LLDngp§g®©    c9]ch6D8H     cF8ud5©ds©     GTPITITd5
6fup ITS8chcoLD6Du  e2_orgL] u®Sg]@pg] 7

(A)      ®L+u  ©co6mL]Li                                     (B)   LichchL® §coLL]LILL ©co6mL]Li

(C)       d5LbL9  fco6urrLjLi                                               (D)   Go:6anLb  @co6mL]Li

(E)      6flcoL Q§flu6flchco6D
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54. Which of the following is used for the work of supporting a building to
strengthen or renew its foundation?
(A)     Scaffolding
(8).     Formwork
or  Under pinning
(D)     Shutter.ing,
(E)    Answer not known

®®        diL+L§cO?        ei§dr        ei+§6IT§cO?        6ueprLjLI®§§        c9ich6u5i  -Li5iLILfldsdi
L9ch6u®6uen6u®Pch  6Tg]  uudru®S§L]u®flpgj ?

(A)       O=IT7Lb  acoLDS§ch

(8)        s5®05ITcOIT  6uITfrLLid  dFLLdirfud5dr  6u+6urrds©e5dr

(c)      a+6FT 6ugugbLLch
(D)      (!pLITd;695dr                                                                                                                      .

(E)       OflcoL  G\§fluoflchco6D

of a tread and a rise dimension of stair case must lie between
(A)     30to35cms                                 Of 40to45cms
(C)     50to55cms                                    (D)  60to65cms
(E)    Answer not known

®®   u+dsd5L+dj   ®®   @coLroLL   Sonfo   (a   tre;d)   Lo®grfo   ®®   gLugTfo   (a   rise)
±±!,chuou®givch ch®§ch  £©65drLOu®grdr 6TS§  eionquds©dr ©®ds65  GOu6dr®Lb 7

(A)       30-35  Q8=.Lfi.                                             (B)   40-45  GlcF.Lfi.

(C)       50-55  G\d=.Lfi.                                              (D)   60-65  Qg=.LB.

(E)       OflcoL G\gfluoflchco6u

56.    If the compaction factor is o.95, what is the slump in mm?

{€;    85t:02:00                                   gr::Ot:05:75                   `
(E)    Answer not known

0+®6505  95ITIT6rf\  o.95  c±bo5  £®S§ITch  e]§dr  d=flqu  LDgL]Li  Lflch6fl  LfiLLflch  6T6ir6FT7

(A)     Oto25
(C)     75tol00
(E)      OflcoL Q§fluofldeco6D
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57.     Bleeding of concrete is highly observed in

(A)     Highly wet mix                            (B)  Insufficiently mixed concrete
(C)     Good proportioning                     {PrBoth (A) and (B)

.   (E)     Answernotknown

95®g5ITco7        (Concrete)     .  ®ce©§ch        (BIeeding)        6Tou®Fch        Lfldi        cgigdiLDITds
di6u6flds55L]u®flpg]?

(A)         L6\g5quLb  FTFLDrren  di6Dco6u.

(C)        Pch6D  ofl@§IT5=ITIT  di60cO6u

(E)  a    6flcoL  G\§flu6flchco6D

(8)    d=fluflch60IT§  g56DL]L|  di6D6®6u

(D)   (A)  rofDgHLb  (8) @7in®Lb

58.    In  the  accelerated  curing  test,  the  oven  temperature  is  brought  to
in about an hour.

(A)     63°C                                                      (B)   73°C
(c)     83Oc                                                   (pr.93Oc
(E)    Answer not known

(!p®ds©6fldsd5L]LiLL  ©ctflfr6flL]Li   GO=IT?cO6FTuflch  ei®L]Lflch  QOuL]Ljpco6O
g+LDITfr  g2®  LD6of\  GPITsgch  Q05ITdr®  6uITLlu®flp8i.

`(A)      63°C                                                       (B)   73°C

(C)     83°C                                                      (D)  93°C
(E)      OflcoL G\?fluoflchco6o

59.    The deformation of the shape of bricks caused by the rain water falling
on the hot bricks is known as
tA)    spots                                          {gr chuffs
(C)     Cracks                                             (D)  Blisters
(E)    Answer not known

©LIT6FT   Qffrfudi®di;fldr   L68u    LDcOE9Sfr   Qgl(±p6u§ITd>    9®u®fo    Qg=rfu05fDdioflch   Ou+Ousg6ir
J\cO?6H  6Tch6uITgr  eicopdsdiL] LI®flpgi

(A)      Lidrof55dr (spots)

(C)      6flfl5=deg5dr  (Cracks)

(E)      OflcoL Q§fluofld]co6D

P
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(8)   8:L]6fu  (Chuffs)

(D)   Li6DLLjLid5dr  (Blisters)
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60.   . The  aim  of thermal  insulation  is  to
inside of the building.

(A)     Enhance the transfer of heat

between  outside  and

Minimise the transfer of heat

(C)     Balance the temperature          (D)  Retard the transfer of heat
(E)    Answer not known

G16uL]udso5ITL]Lflch      GPITj595LDIT6FTgH      65L+LS9ch      QouoflLJL|Psg®©Lb      8LLL|Psg®©Lb

©coLGu G\d=ul6u§®d5IT05  g©Lb.

(A)       QouLJuds  diL§g]§co6D  gL6ITds©6fldsd5        (B)   JQ6uL]LJds  d5LsgH§co6D  ©coP6555

(C)      QouLjuscog p®Fco6DL]u®§§              (D)   QouL]uds  diLsg|§co6D  6T9frd;e5

(E)      6flcoL a?rfiu6flchco60

61.    Fineness of cement is measured in the units of

(A)     volume/ mass                               (B)  mass /volume
|P{    areeL/ rrLzrss.                                   (D)  mass / areaL
(E)    Answer not known

d5ITcOFufl6dr grdr §drcoLDcOu  96ITof®  G\O=ulu  I.IudrLI®§?LILI®Lb  ei6O©

(A)       ag5ITdron6ITqu  /  flcoF                                     (B)   PcoIT  /  QdiITdrononqu

(C)       HITL]uonq  /  flcoIT                                          (D)   Fco7  /  LJFTL]uonqu

(E)      6flcoL Q§flu6flchco6D

62.    Wood is not suitable for use in bridge construction is

(A)    Jarul                                             (B)  Nageshwar
(C)     Sissoo                                            jpJ Jiyal
(E)    Answer not known

uIT6DLb  d5L® LDIT6FTsgch  uudrLj®§gal6ug®©  gL55S§grro5  @chcoITg  LD7Lb

(A)      g3®ch

(C)       fl6fodi

(E)      6flcoL Q§flu6fld)co6D
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tD>   aluITch



63.    A propped cantilever of span `L' is  subjected to  a concentrated load at

mid-span. If Mp  is plastic moment capacity of the beain, then the value

of the collapse load will be

(A)

(8)

RE

(D)

4Mp

iii
5Mp
_______

L

6Mp

L

8Mp

L

(E)    Answer not known

L]ITqu   SonLb   ``L'   8L6nLu   (!pL®or   Q§ITrij©   8Lsg7Lb   L]ITqu   Sonsg6ir   cOLDusgd>   ®®

Qd:FebLLL]L]L®   uqg5   Qd=ud>L]®@p8al.   Mp   6Tdru8H   Qpas  g®L]H   6u6616Dro   6T6oflch

£+Sgj  ®$1(!PLb  u®6flch  LD9L]L|

(A)

(8)

(C)

(D)

4Mp
_.__

L

5Mp
__               _              _   _

L

6Mp
____

L

8Mp

L

(E)      Ofl6nL Q§fluoflchco6o
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64.    Muller - Breslav principle is  applicable to  get influence line for which

one of the following

(A)     Reaction at the ends ofa simple beam
(8)     Bending moment at a section
(C)     Shear force at a section

Forces and moments at any section
(E)    Answer not known

£$85drL6u®8udr  6Tgp85IT6RT  qbgd585Gd5IT®  Qup  (!pchajfr -  LgF6fo6DIT `ginfbor  cgHcOLD@p5j ?

(A)       6Torfl§ITrijflufl6ir  (!p6ut6FTesofld>  Qd=udeu®SgLju®Lb

(8)      g2®  u©Puflch  g®u®Lb  (!pddsdi  oucoonqu

(C)      ®®  u©guflch  q®u®Lb §cod5qu  oflcod:

(D)       ®®  LJ©9u9ch  g®u®Lb  §cog5q  6)£lcod=  LD®gHLb  (±P®65d5  Oflcod=
\

(E)      OflcoL a?flu6flchcoco

65.    Which of the following statements is true with regard to the flexibility
method of analysis?
(A)     The method is used to analyze determinate structures
(8)     The  method  is  used  only  for  manual  analysis  of indeterminate

structures
(C)     The method is used for analysis offlexible structures

The method is used for analysis of indeterminate structures with
lesser degree of static indeterminacy

(E)    Answer not known

Qpflfqu      ([pcOp      L]©L]LiITul6]gldr      LI+,      £$65drL6u®Fch      8L6dr6nLDUIT6uT      ch®cOp
G§frSQg®dsdi7

(A)       6ucO7uords55L]uL.L  05LLcOLDL]cOu  u©L]uITu

(8)        OucOITuord;65LjuLIT§  s5LLcOLDL]cOu  LD6rfi§6FTITch  u©LL]ITu

(c)       Qp@E!6HS  pdr6nLD  Q05ITdrL  s5LicoLDL16u7L]  u©L]uITu

(D)       ©cOp6uIT6tIT     s5dr®Lfl+dies     G6udr+u     §ITqu55dr     QdiIT6drL     6ucOFuordss5LIL]LIT§
S5LLcOLJ)LJcOLJ   LJ©LILJITu

(E)      OflcoL a?fluoflchcoco
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66.    A two hinged arch may be analysed using the following methods.

(i)      method of consistent deformation
(ii)     strain energy method
(iii)    column analogy method
(iv)    kani's method

{J   (i), (ii) and (iii) are correct
(C)     (i), (ii) and (iv) are carrect
(E)    Answer not known

(8)  (i), (iii) and (iv) are correct
(D)  (ii), (iii) and (iv) are correct

©ITdr®      ©ch(!pcO6FT,      d5LDIT6n6FT,      £Pedsd5drL     (!pcopdidr      LluchL]®§g      LI©L]LIITulqu
G\5=ulu6DITLb.

(i)        g2ulq p6flQi  cecop

(ii)      gflLi g®pch cecop

(iii)     8+Tar  ®LjLicoLcOLD  (!pcOp

(iv)      65IT6fl  cpcop

(A)       (i),  (ii)  LD®orLb  (iii)  0:fluIT6ITcO6u

(c)       (i),  (ii)  LD®orLb  (iv)  fffluIT6FTcO6u

(E)      6flcoL a?flu6flchco6D

(8)    (i),  (iii)  LD®grLb  (iv)  6:fluIT6FTcO6H

(D)   (ii),  (iii)  LD®orLb  (iv)  d=fluIT6FTcO6u

\

67.    To  sort  out  the  support  reaction  in  two  hinged  arches,  which  of the
following method is used?

(A)     Castigliano's First Theorem    {rfcastigliano's second Theorem
(C)     Willot Mohr method                   (D)  Graphical method
(E)    Answer not known

Lfl6iITOu®Lb     (!pcOpo3of\ch     6TS§     (!pcOp     ©ITdr®     diE9ch     OucO6IT6Li6fl6dr,     qb§F6H     6Tgfr

oflco6uTcou  d5dr® Lfl +65es  gL§quLb.

(A)        05IT6fu+ds6fluITG6FTIT  (!pgch  G§®pLb         (B)    diITcht+ds6fluITG6FTIT @ITdrLITLb  G§®pLb

(c)        ofldj6DL  GLDITfr  (!pcOp                                       (D)   @FITOoOLg85ch  (!p6®p
/

(E)       6fl6DL  Qgflu6flch6n6D
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68.    Three moment equation is applicable when

(A)     thebeam is prismatic
(8)     there is no settlement of support

there is no discontinuity within. the span

(D)    the spans are equal
(E)    Answer not known

ee6dror  g®LiHcOLD  6:LD6drL]ITLcOL  6TLiQL]IT®gi  uuchu®Sg6OITLb  6TdrpITdj

(A)      6flLLLb  uLL05LDITd5 @®S§ITdr  (prismatic)

(8)      pITrfu@Sdr  6TSp6flp ©pdssrfudi6nonuiLb  (settlement)  ffsgdsdi6fld>cO6D  6TdrpITch

(c)       6flLLSgch      SLLrfu85drfl6dr       @cOLGu       6TSg       ®®       QgITLfrHLb       Srfu85ITLDch

(discontinuity) @®dso5 Gou6dr®Lb

(D)       SLLrfuo5dr  ffLDLDITs5  £®dsdi  G6udr®Lb

(E)      OflcoL Q§fluoflchco6D

69.    If #,y  are the co-ordinates of a point on the structure J%  will be given by

giv    Ix=J#ds                               (B)  I.x=J#ds

(CN = |#xds                       (DHx = J#yds
(E)    Answer not known

®®     d5LLcOLDLjLfldr    GLDd>     %,y     qb@u     qburfu85dr    acoLDSp®SgITch     J%©L]u+
Q65IT®Sg®LjLfldr

(A;)     Ix-J#ds

(a)    Ix=f #xds

(E)      6flcoL Q§rf\u6flchcoco
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(8,  J#=J#ds

(D,J#-J#yds
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70.     Stiffness  of a  member  fixed  at  far  end  of a  prismatic  section  having
relative stiffness fa = I/Z is given by

(A:)      2`Eh             .                                                              i

Or   4Eh
(C)      3Efa

CD)     3Ehl2
(E)    Answer not known

®®  gLgrL]Lg9[cOLu  oflcopLiLi  9LgrgL]Lj®grcoLu  gTTIT§ggudron  d5cOLfl  (!pcO6uT  LjLLd5L]
Lgflqu  Qu®F®65®Lb  Q§ITLfr  oflcopL]Li  fa = I/z  6TchF®S§ITch              u

(A;)     2.Ek
(8)     4Eh                                                                                `                       '
(C)      3Efa

(D)     8Ehl.2'
(E)      6flcoL Q§flu6flchco6u

71.    Strain energy stored in a member is given by

(A)     %xstressxvolume

(8)     %xstrainxvolume

4er   %x stressx strainx volume

(D)    #xstressxstrain

(E)    Answer not known

®®  QLDLbuflch  §rijfl  @®ds©Lb  gflLi  qb®ped  @§ch  e!p6DLb  Qd5IT®dsdiLiL]®@pgu.

(A)       %  x  6foLOIT6in  x  ouITchBLb

(8)       j{  X  6fu)LQITuflch  x  6uITchgLb

(c)       %  x  6ivLQF6in  x  6inLQITuflch  x  ouITchgLb

(D)       %  x  6inLQF6fo  x  6inLG\Fufldr

(E)      GflcoL Q§flu6fldr6nco
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72.    The thickness of ozone layer is measured in

(A)     British thermal unit                  (B)  Clark's unit
Dobson unit                                , (D)  Parts per million

(E)    Answer not known

®G8=IT6iIT  u L6oS9dr g+u]co6ur. g6rrd;©Lb  (!pcop

(A)        LgflL+6ky  QgfrLDdj  cfl6IT6fl                          (B)    @6ITITfrds  c9i6IT6fl

(c)       LITL]8=dr  cflon6fl                                                 (D)   uITfrL6fu  QLjfr  L6\d>661udr

(E)       OflcoL  G\gfluoflchco6D

73.    The`  most   significant  harmful  primary  gaseous  pollutant,   found  in
vehicular emission is

j/J   carbon monoxide co                (B)  Carbon dioxide c02
(C)     Sulphurdioxide s02    .              (D)  Ozone03
(E)    Answer not known

6L]ITs56FT  gLL6\$6flch   05IT6mL]u®Lb  a drFucOLDUIT§   QdsIT+u   (!p§6DITLb  FcO6D   6uITuipco6D65

diITfbgr   LDITdi

(A)     CO                                                       (B)  C02

(C)     S02                                                      (D)  03

(E)      OflcoL Q§fluofld)co6D                                                                                       t

74.    Among the following, the only secondary pollutant is

(A)     Sulphur dioxide                           (B)  Hydrocarbons
jer   ozone         `                                 (D)  Sulphurtetraoxide
(E)    Answer not known

I

\

\  £Bdsd5drLOu®fflch  g2G7  @ITdrLITLb  pcO6D  LDITdis5dr

(A)       g=choooufr  6DLc¥bj5cOcO®                                  (B)    6u7apLGFIT85ITfru6ir6fu

(c)       g2GgITch                                                                   \(D)   O=chLjfr  QLL7IT  c±b65cOcO®

(E)      6flcoL Q§fluoflchco6D
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75.    At  a  speed of 0.30  in/s,  the  time  (t)  required for the  waste  to reach a
distance 30,000 in downstream would be

(A)     11.6 days                                      jEri.16 days
(C)     2.77days                                            (D)  27.77days

(E)    Answer not known
I

0.30   LB/oil   G6udisgch,   dsgrQi05dr     £Gg   30,000   Lfi  8+rITScO§   e|cOLu   G§cO6uLiL]®Lb

GPITLb  (t)  6T6iru8H

(A)       11.6  prrL65dr

(c)      2.77  pITLd5dr

(E)      6flcoL Q§flu6flchco6D

(8)   1.16  pITL05dr

(D)   27.77  f5ITLd5dr

76.     2.5   ml   of  raw   sewage   has   been   diluted   to   250   ml   and   the   Do
concentration of the diluted sample at the beginning of the BOD test was
8 mg/L and 5 .mg/L after 5 days incubation @ 20°C. BOD of raw sewage
will be'

(A)     200mg/L
(8)     150mg/L
(C)     250mg/L

4rf   3oomgiL
(E)    Answer not known

2.5    Lfl.6fl.    05dd=IT    digrquSfr    250    L6\.6fl65©    SfrsgalLGUITdiLjLjLLITch,    Sfr§§    LDITgflufldr

dicoITS§  qb65en5lg%dr  ad=fflqu,   Q§ITL63d5Sgch,   BOD  aGITqu   8  mg/L  LD®grLb  5  pITLo5dr

©6ir©GLiLLflch  coou§§  L9p© e]§6ir g6ITqu  5 mg/L @ 20°C  Lfl.®.+uf\ch ei6IT6Li,

(A)     200mg/L                               ,
(8)     150mg/L
(C)     250mg/L

(D)     300mg/L
(E)      6flcoL Q§flu6fld)co6D
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77.    The  type  of vavle  which  is  provided  to  Control  flow  of  water  in  the
distribution system at street corners and where the pipelines intersect` is,

#  81huei:: ¥::::                         (B) S:::tryvva:yvee
(E)    Answer not known

g#g®eeLcOL#¥:6H9HP®ITF§di:p?ELches#®enfou:IT§#ENoudsco#?6flpGUITdigcoroLflch

•,.

..- _. . _   _ -i _  -_  --_  i . _.®

(A)       6fogruflchj  ouITch6H        '                                   (B)    chjchfr  ouITchqu

(c)        Qg=ds  6uITchqu                                                               (D)    LingHs5ITL]Li  6uITchqu

(E)      6flinL Qgflu6flch6n6D

78.    The most reliable system of distribution of water is
(A)     Combined pumping and storage system

Gravity system
(C)     Pumping system
(D)    Pumping without storage system
(E)    Answer not known
§airran#fr  L]flfrLDITen  (pcOpuflch  6TS§  (!pcOp  Lfl05quLb  pLbud5§§6ircoLD  6uITulS§8i

(A)       LILbL]  Qe=ulg|  GLDchpco6Duflch  G§dsfl  ufl®Lb  (pcop

(8)      @u®codiuIT05  GLD6fl®S8]  £Gee  G\05ITdr®  Ou®Lb  (Gravity)  cecop

(C)       uLbL]  LDL®Lb  Qd=ul5]  u@®Lb  (!PcOP

(D)       uLbL]  Qd=ulg|  G§d5fl  co6uds65ITLDch  u@®Lb  (!PcoP

(E)      6flcoL G\§flu6flchco6D

79.
\

The fluctuating demand is to be met with a constant rate of supply from
the treatment plant by providing an adequate storage in the distribution
reservoir is called
(A)     Cummulative storage                (B)  Emergency storage
Jar   Equlization storage                    (D)  Useful storage
(E)    Answer not known

:P#®8fr:PHITflrofrropITflenT%§;:#ul:ITgrchap©G¥Lof:i:§g&engFdroITdiLH§Pgou?£:£
gcog)d5d56i>ITLD.       SfrG§dschuflch       6fl®f§dsgflch      a6ITqu                    9£TIT6iwou    oucodiuflch
@®ds©LbouIT®g]
(A)      gITdrchL®  Ggdsd5Lb

(C)         d=LJ)LDITdsd5ch   Ggds85Lb

(E)      Ofl6nL Q§fluoflchco6D
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(8)    aoug:FTs5IT6D  G§dsg5Lb

(D)   uueprdron  G§dsdiLb
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80.    Which statement is true about oligotrophic Lake?
jrf  water ±s poor ±n nutritive
(8)    Water is rich in nutrients
(C)     Water is rich in acidic compounds
(D)    Water is rich in basic compounds
(E)    Answer not known

®6flGs5ITLGITrrLflds  gflcouL]  ujDfflu  6TSg  th®gr  gL6drcoLDUIT6FTgH?

(A)       Sfr  8L6ITLLJg=§5i  ©cOpOuITdi  8Ldr6ITg|

(8)      Sfr gLonL`Ldg§g| PcopSgHdr6ngl
(c)      Sfr e]Lfl60  656DcOoudidr pcopS§gp

(D)      Sfr e]+LjucoL o56Dcoouo5dr FcopSggj

(E)      6flcoL G\§flu6flchco6o

81.    Match the following :
(a)   Diarrheal diseases
a)   Schistosomiasis
(c)   Malaria
(d)   Onchocerciasis

Answer.not known

1.      Microorganisms
2.     Watersnails
3.      Blackflies
4.      Mosquitoes

L9ch6u®ou6FTou®copL]  a LJ rr®Sgqu Lb

(a)     Ouufl®orL]  GLjITds©  GPITul05dr

®)     6fufl6hoGLITGdFITLfluITflch)

(C)      LDG6DfluIT

(d)     g26irG55ITQe=frfluITa6iv

(a)
(A)1
(8)1
(C)2
(D)1
(E)     6flcoL Q§flu6flch6vico

1.       9ul6in9gruflfl05dr

2.      Sfr psco§d5dr
3.       d5®LbLidrof d5dr

4.       adiITdi65didr
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82.    The  type  of canal  alignment,  which  involves  maximum  cross-drainage
works, is a

(A)     Ridge canal
(8)     Watershed canal
or  Contour canal
(D)     Side slope canal
(E)    Answer not known

\

6TS§    6Li6nd5    d5ITch6uITul     £FTcOLDL]LIIT6ng|    c9igd5LILd=    ©grds©    6u+d5ITch     LicoLL]Lio5coons5
Q65ITdr®dr6noi.

CPS5L®ds  05ITch6u ITul

EiHEE 6W60   diIT6D6u ITUJ

g=LDLDLL  05ITd)Ou ITul

uds05  d=rTulqu   05ITdrowITul

6flcoL Q§flu6flchcoco

83.    In  case  of diversion  structures  on  permeable  soil,  the  term  `piping' is
meant by

(A)     Drainage of seepage water
(8)     Consolidation offoundation
(C)    Measurement ofuplift pressure
jIr   Failure initiated by boiling
(E)    Answer not known

8L6TT®®Oudsoh+u      LD6dr6oflch     c9]cOLDdsd5L]LILL     Sfr     gcoo=     g®L]LiLb     d5L®LDIT6FT§gch,
e]9  e](±gsg  65fl6H  6Tdrp  Qs=ITch  6Tco§ds  ©Fdsflpgal 7

(A)        gL6IT®®quLb  S®65d5IT6FT  6u+diITch

(8)      e]+S§onsco§  u6DL]LJ®SgH§ch

(C)       GLj]chGPIT55©  Sfr  oflcod=cou  556m55fl®§ch

(D)       ao5ITPFcO6OuITch  9®u®Lb  d5L®u]IT6FT  flco§qu

(E)      6flcoL a§flu6fldjcoco
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84.    The sodium carbonate lining consists ofatleast

j¢   6% Sodium Carbonate and 10% Clay
(8)     10% Sodium carbonate and 6% Clay

(C)     1% Sodium carbonate and 6% Clay

(D)     6% Sodium carbonate and l% Clay
(E)    Answer not known

Gd:IT+u Lb  o5ITfrLjGenL  gLdr6u fl L].E±ddi Q65ITdrLg].

(A)        6%  G6=IT+uLb  diITfrL]G6FTL  LD®orLb'  i0%  di6flLDdr

(8)        i0%  c6:IT+uLb  65ITfrLjG.6FTL  LD®orLb  6%  di6TflLDdr

(C)        1%  Gg=IT+uLb  s5ITfrLjGenL  LD®gHLb  6%  d5erflLDdr

(D)        6%  G6=IT+uLb  s5ITfrLjG6FTL  LDfborLb   i%  ds6TflLDdr

(E)      6flcoL a?flu6flchco6D

85.    A super passage is a cross drainage work provided when bed of natural
drain is

(A)     atthe same level as canalbed
well above F.S.L. of canal

(C)     below F.S.L. ofcanal

(D)    below bed level of canal

(E)   `Answer not known

©Liufr  uITG6n]£  6T6FTLjLj®Lb  Sfrdsd5ITch  ©ords©  65LLLLb,  6u+05IT6flch  u®eno5

(A)        d5ITch6uITuflch  u®dscodids©  d=LDLDITd5  @®ds©LbQUIT(±pg|.e]coLDdsg5L]u®flpgu

(8)       cEITd>ouITufl6ir  F.S.L.ds©  GLDG6o  @®d;©LbQUIT(±pgu  eicoLDd565L]u®flpgH

(c)       d5ITchouITufl6ir  F.s.L.d5©  £Gtp  @®ds©LbG\L]IT®g|  c9icoLDds05L]H®@p8j

(D)       diITd>6uITufldr  Lj®dsco55ds©  £CEp  @®ds©LbQLjIT(±pgH  eienLDdss5Lju®flpg|

(E)      6flcoL Q§flu6flchcoco
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86. In  a  steep  slope  channel,  the  condition  for  S2  Gradually  varied  flow
profile is given by

(A)      yc=y7t>y

y c> y > y n

(E)    Answer not known

(8)   y = yc = y„

(D)   y7t  = y = yc

®®    L6\6u7d5d    8Ffl6HcOLu    tBITch6uITufldj    s2   6ucodi    u+L]u+u]ITdi    LDITorLb    SGFITLLSgdj
eicoLDL] Li  @dr6uITor  Q85IT®dso5L] LjL®drongal.

(A)      yc=y7t>y

(C)      yc=y=y„
'

(E)      OflcoL Q§fluoflchco6D

(8)   y = yc = y7t

(D)   yJt = y = yc

87.    A fireman intends to reach a window 25.5 in above the ground with a fire
stream  a  nozzle  having  a  cylindrical  tip   30  mm  in  diameter  and
discharging 1140 I/min, Calculate the velocity.

(A)     25.55m/s
26.88 in/s

(C)     28.66m/s

(D)     28.55m/s
\

(E)    Answer not known

®®    §ucO6urrLjLi    ofITfr    §cOITulch    ©®¢gr    25.5    L6    8LUITcedron    g=6ir6FTcOcO    96nLu
6fl®LbLiflpITfr.    Qp®L]uIToneal    SGFITLL   8L®cO6IT   ce6u7On   30    Lfl.L8    6flLLcpLb    LD®8HLb

a?ch     ee6OLb     ii40     6fl/pLflLLb     QOuerflGu®grLb     gp6dr     Q05ITdrLQ§6flch     ei§ch
9cod=GoudiLb

(A)       25.55  Lfi/G\pIT

(8)       26.88  Lfi/G\pIT

(C)       28.66  LB/QPIT

(D)      28.55  L§/QPIT

(E)       Ofl6u7L  Qgfluoflchco6o
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88. If  `Q'  is  expressed  in  m3/s,  `A'  in  hectares,  `R'  in  mm  per  hour,  the
rational formula is

5

(C)      Q=3.12Ag

(E)    Answer not known

1

(8)  Q-87AI

3

(D)   Q = C AZ

`Q'             656FT.Lfi/a6:didr+82]Lb,             `A'             QapdsGLfl82]Lb,             `R'             L61L6/LDdi65©Lb

ad5IT®.dss5L] u i+®S§ITch,  ofl@§(!por  Ou ITul u rr®  £B65drLOu ITor  6T(±p§a?ITLb.

(A,   Q-%
5

(C)      Q=3.12Ag

(E)      6fl6u)L Q§flu6flchco6D

1

(8)   Q=87AZ

3

(D)  Q-CAT

89.    Which one of the following is the best trapezoidal channel section?

(A)    Depth offlow = Halfofbed width
(8)     Sideslopeis45°

Jot   The shape is ofa halfhexagon
(D)     Equal sloping sides
(E)    Answer not known

£9d5drLOujbordr  6T8l  flpS§ prty05IT 6uITulo5ITch  qb©Lb 7

(A)      SGITITLL gtgLb  =  6uITul6595ITd"®dscoo5  e]di6D$9ch  uIT9

(8)   '    udsc5  d=ITulqu  45°  eionqucoLUJgu

(c)      ei§dr `Ou+OuLb  HITg  eigrrfuGdiIT6m ou+coon  ®§§5]

(D)       d=LD  a6IT6L|cOL  H55d5  d=ITulq

(E)      6fl6DL Q§flu6flch6Da)
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90.    Bernoulli Equation is derived making assumptions that

(A)     The flow is uniform and incompressible
(a)     The flow is non-viscous, uniform and steady

jpr  The flow is steady, non-viscous, incompressible and irrotational
(D)    The flow is uniform and non-viscous
(E)    Answer not known

a ufrenIT6fl6fu  6:LDdrLjIT® ,  £S05drL  6TSg  geprLDITenSgdj  82_®6uITs595L]u®flpgi 7

(A)       g2LLLb  £FIT6FT8u  LD®orLb  c9it!pdss5  tip+uIT§gr

(8)       ®LLLb  ®LLITg8u,  £ITITengH,  LD®orLb  p6®6OuIT6no]

(c)       g2LLLb  pcO6DUIT6FT8I,  ®LLIT§8H,  c9icedss5  cp+uIT§8H  Ljj®8uLb  cgHE96DIT§gal

(D)       g2L.LLb  £ITIT6FT8u  LD®8uLb  ®LLITg8J

(E)      6flcoL G\?fluofld)co6D

91.    Determine the present value of a building that was constructed 30 years
ago at Rs.60,000.   The estimated life of the building is 50 years, at the
end  of which it  will  have  10%  scrap  value  of its  cost  of construction.

`

Depreciation is to be calculated by straight line method.

(A)     ,28,600                                          .                   \

(8)     26,600

¢    c2:I ,f ff I/I J
(D)      26,700                                                                             1

(E)    Answer not known

30  Ou®Lrfuo5®d5©  (!p6dr  ®.60,000®©  d5LLLiuLL d5L+Lsgdr g®GL]ITcO§u  LDgL]cOu
956md;@L6HLb.    5o  6u®Lrfu85(8g©  Lgp©  ei8dr  LDgL]Li  s5L+L  6flco6Dufld]  1o% c¥b©Lb.
gil+Lsg6{IT  G§ulLDIT6FT§cO§  Gpfrj5Gd5ITL®  (!pcOp  (!pcOLb  d56mds@L6LiLb.

(A)     28,600
(8)     26,600
(C)     27,600

(D)     26,700

(E)       OflcoL  G\§fluoflchco6o

CECE/2024 40 P



92.    The   technique   of  reducing  the   project   duration  by  the   sequential
crashing of the critical activities in the cost-slope order is known as

(A)     Crash woik compression          jfy  Network compression
(C)     Duration compression                (D)  Time compression
(E)    Answer not known
Q5=6oqu ' g=fl6H   6ufl6uto:uflch   ([pdsfluLDIT6FT   Qg:uchuIT®s5Oflch   QPITLfrdfluITon   Q5:u6flEPLjLi

e!p6DLb  PLL  85IT6D$6bp  ©cOp65©Lb  gHLULb  6Tdr6uITor  e]FULu®@pgal.

(A)        GOucO6D  di®dso5  Qd=u6flE9LLi                       (B)    OucO6DLjLg6ir6FTch  Q6=u6flE9L]Li

(C)       diIT6D  e]on6H  Qg=u6fltgL]Li                              (D)   Gp7  G\6=u6flEBLJL|

(E)       Oflco-L Qgfluoflchco6o    -

93.    For mortgage purposes, the mortgage value of a property is taken as
2i to - of capitalized value

23

(8)    : to : ofcapitalizedvalue

(C)    : to i ofcapitalizedvalue

(D)    : to ± ofcapitalizedvalue                                                            \

(E)    Answer not knbwn
a LLD IT6{IT              GP ITdso5 rfu d5 (8ds05 IT05               ® a               a d[ITsg dr              e] LLD ITen               LDg L] Li
6T®$5]dsQg5ITdronL]u®flpg|

(A)      ±  an®Sgr  fch QroITSg  ro9LH

(8)      :  Of®Sgr  f  ch QroITS§ ro9LH

(C) i  66\®S9  ie  ch  QLDrrSg  LDPLH1

8
116fl®Sgr  inch  aLDITsg  LDgLH

5
6fl6u)L  a?fl u6flchco6D
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94.    The process of working out the cost per unit of each item is known as

(A)     Work
(8)     Sheet

Data
(D)    Analysis
(E)    Answer not known

/

®chQOuIT®     QLIIT®ofldr    ®®     !±±6rflL    Qd=6DcOOu    `Ldi6mdsfl®Lb     (!pcOp
cglF U L] u ®flpgH.                                                                                        ,

(A)       G6uco6D

(8)      §ITdr

(c)      gd56uchtEdr

(D)      u©L]urrulqu

(E)      6flcoL a§flu6flchcoaj

95.    If the latest finish time of an activity is 40 and its duration is 6, then its
latest start is

(A)6
•         (a)     40

(C)     46

jpJ    34
(E)    Answer not known

®®  Q6:u6fl6ir  6=L6u  (!p+L]Li  GPFLb  4o,  e{§ch  d5IT6D  @coLQ6uofl   6  6T6flch  e]§ch  g=L8u
±FLbLI Lb  6T6ir6FT 7

(A)      6                                                                                                              `

(8)     40                                                                                        /
'   (C)      46

(D)  \  34

(E)      6flcoL Q§fluoflch6n6D                                                                        ,
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96.     Revised estimate is prepared when the original estiamte exceeds

(A)      2%                       /

(8)     5%

(C)      8%

at   vfffJ,o
(E)    Answer not known

ao=ch    LDgLILSL+6fl®S8u
G\cFuluL]LJ®flpgH.

(A)     2%

(8)     5%
(C)     8%

(D)     10%

(E)      6flcoL G\§flu6flchco6o

c9ips5flds©Lb   GHngu,   g®Spu    LDgL]Ls®   §uITfr

97.    The quantum of work of any item a skilled labour is supposed to turn out
in a day is known as

Task work

(8)    Dailyreport
(C)     Daywork
(D)    Targetwork
(E)    Answer not known

®®    gpcoLD     Qu®p     G\grrgr6DITorfluITch     82®    pIToflch     (!p+65d5LUL    GOudr+u     82®
G6ucO6Dufl6dr  q§IT6ugu  82_®L]Lj+ £drouITor  eiFUL]u®flp8H.

(A)       L16un  G6ucO6D

(8)       96ITLJLJ+  c9|Fdscod5

(C)       Pow  Gou6u)6D

(D)      ©6Dds©  Gouco6D

(E)      OflcoL a?fluoflchcoco
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98.     Indication of an ahead of schedule condition (excess resources) is known

as

positive slack

(8)     zeroslack

(C)     negative slack

(D)     slack

(E)    Answer not known

©FL]Lfl,LL  d5ITco  aLLouco6mds©  (!p6ir6FTGIT  (!p+L]L]co§  diL+ds65ITL®Lb  FLIS?co6FTcou

(agg  Ou6ITrii55dr)  £Peds55drL6uITgr  eicopds65LILi®flp5i.

(A)       GpfrLDcop  g6ITfrdfl

(8)      geeu §Onfrdfl

(c)       6TgrfLD6utp  §6ITfrdfl

(D)      §6ITfr6:fl

(E)      OflcoL Q§fluoflchco6o

CECE/2024 44 P



99.     In the given network which one represents critical path activity_?

oiso 13  © I  a
(A)    A-C-E-F

(8)    A-D-E-F

B-D-ELF

(D)    B-C-E-F

(E)    Answer not known

Q65IT®dsd5L]LjL®dron  6u6n6DLj  Lflch6FT60ch  (!pdsfluLIITco§. pL6u+dscoo5cou  ©givL]LIgi  6Tgi ?

(A)    A-C-E-F

(B)    A-D-E-F

(C)    B-D-E-F

(D)    B-C-E-F

(E)      6flcoL G\§flu6flchco6D
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100.  It  is  the  maximum  period  by  which  the  start  of  an  activity  can  be
delayed from its EST without affecting the EST of successor activity

(A)     Totalfloat

or   Free float
(C)     Interference float                                                 a
(D)    Dummy
(E)    Answer not known

®®   Q6=ucoco   g|6urfu,©Lb   GL]ITg]   agch   EST   Gp7Sco§   6flL   §drof   gHouri]fl6FTITguLb
ro®orLb   Lfldr6u®Lb   Qd=u6@dr   EST   GPFLb   uITg6565ITg]   pITLDgLDIT8   g]6urij©Lb   c9ig65uLff
GPITLb

(A)        G\LDIT§§  Lfl§6U)6u

(8)       ©6D6ud=  Lflgco6u

(c)      ©ords£®  Lflp6n6u                                                                                                                       ,

(D)       GUIT6fl

(E)      6flcoL a?fluoflchco6o

101.  In a project, the Major Quality Control Methods are
i=

(A)    Testing and sampling
(8)     Inspection and Testing
(C)     Inspection and sampling
joy    Inspection, Testing and sampling
(E)    Answer not known

a

®® 9LLsgch  §F O5L®L]LJITL®  Cpcopd5onITou5]

(A)        G6:IT§cO6FT  LD®guLb  LDIT9fl

(8)       c±bulQi  LD®orLb  Gg:ngcoen

(c)       gulqu  LD®grLb  Lj]IT9fl

(D)       qbulqu,  Gd:IT§coen  LD®guLb  LDITgfl \

(E)      6flcoL a?fluoflchco6D
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102.  GIS deals with which kind of data
(A)     Numeric data
er  Spatial data
(E)    Answer not known

(8)  Binary data
(D)  Complex data

GIS  6TS§  6u.co55u IT6FT §Fquo5coon  codiuIT(9chp5j

(A)       6T6dr6Ljco55  §TQididr                                      (B)   @®coijjdsthor  g7Qio5dr

(c)       £L©g=ITfrfb§  §76H85dr                                    (D)   `fld5956DIT6FT g76Hq;dr

(E)      6flcoL Q§flu6flchco6D

103.  In a remote sensing electromagnetic energy is characterized and related
in terms of
(A)    Velocity, Wavelength and Magnitude
(8)    Velocity, Wavelength and Temperature
tor   Velocity, Wavelength and Frequency
(D)    Magnitude, Temperature and wavelength
(E)    Answer not known
Q§ITcO6D  8L6mfrqu  eip6flu6flch  Lfldrd5ITS§  c=b®p66\dr  Li6inLi  6T§9]Ldr d=LbLIS§LILILLgi 7

(A)       gcod=GOud5Lb,  aco6D$6ITLb  LD®orLb  aonof®

(8)       gens:G6uesLb,  e]co6DSonLb  LDfbgrLb  G\6uL]uFco6D

(c)      p6uto=G6udiLb,  aco6DSonLb  LD®orLb  agfrqdidr

(D)       a6ITof®,  Q6uL]upcO6D  LD®orLb  e]cO6DSonLb

(E)      6flcoL Q§flu6flchco6D

104.  The  survey which relies  on interaction of electromagnetic  energy with
the subtances
(A)     Electronic distance measurement
(8)     Global positioning system

j£}  £:o#ep%its±]pnn:ng and remote sensing                                      b
(E)    Answer not known
QLIIT®Ld5(9Ldr  Lflchd5ITS? qb®p6flch 9L6IT®®OucO6O  LluchLj®§g  d56mdsQd5®ds©Lb  (!pcOp

(A)        L61ch6FT9pj  g]T7  a6ITLILIITch

(8)       gGo5ITonLb  @®LjL9L (pcop

(c)        EbG85IT6IT @®L]LgL  Q§ITcO6D  gL6mfrq

(D)       Q§ITco6D  g2_6mfrqu  (!pcop

(E)      6flcoL G\§flu6flchco6o
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105.  Most total station instruments measure angles by means of1-,--- \-=-----  _   -_ -__

of extremely precise digital bar-codes etched on rotating glass cylinders

ia)dls;sigT|::F|:o:#e Instrument        ff E|eef::rcoti::t|ca| scann|ng
(E)    Answer notknown

5g#®¥§rLHLidrGgronal#pLchffldi##:+'cegp:un:cO¥G:ITchLcoLgrchife®L'FchGHdiIT®ch£#%
a)cop  LJuchu®flpg].

(8)    Lfl6iIT-guldr gHcoon  ©cop  G6=IT§coen

(D)   6fl6Dd5ch

Gs5IT6m§co?  a 6ITds65

(A)        056nd6flLDULDrr65did>

(C)       uF6uch
(E)      6flcoL Q§flu6flchco6D

106.  In engineering surveying, the effect of refraction is taken as
of that of curvature.

#  8::::::#            v       (B) 8:::::tih
(E)    Answer not known
QLIITFrf\uch     aon6flu66\ch,     9coo=LDITOF     6flco6ITcoou

r€:,§gr:Q#;;T®TonHgHf?Par                     (B} :;g+:g:g
(E)      6flcoL a?flu6flchco6D

6T6irp      6Li6n6IT6uITd5

107.  F`ace  right  and face  left  observations  are  taken using  a  theodolite,  in
order to control
(A)     Gross errors
(8)    Accidental errors

J# Natural errors
Systematic errors

(E)    Answer not known
62m   ®GUITLcO6DLcOL   cO6u§sI   GdiIT6mrfu65coon   a6ITds©Lb   GLIIT5i   6Li6DgH   LDfbgrLb   ©L5]
:p®ouP£ 95onITch  a6ITdsdiLj u ®@fogH ,  gQ6FTdrpITch

(A)       cer6ITcoouuITITd>  g®LI®Lb  Lflcotgcou  53L®L]LI®§?

(8)       6TgfruITITITP  Lflcot9cou  d5L®Lju®S8

(C)       @u®cod5  Lflcot9chu  g5L®LJLJ®S§          +

(D)       g5®6flufl6FTITch  6u®Lb  L9coEPcou  d5L®L]u®S§

(E)      6flcoL a?flu6fldeco60
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108,  Aneroid barometer is used in
(

(A)     Astronomical survey

er  Levelling
(E)    Answer not known

(8)  Hydrographic survey

(D)  Tacheometry

c9i6flFITul®  uITITITLSLLfr  6Trij©  uudrLj®SgLu®@pgj 7

(A)       OuIT6FT6fluch  g6IT6fluch                             (B)   SfrFcO60  96IT6fluch

(C)      gLUITFco6o a6IT6fluch                             (D)  g|fl? gon6fluch

(E)      6fl6u)L Qgflu6fld)co6D

109.  In a theodalite, to make the horizontal axis perpendicular to the vertical `
axis, the test to be carried out

I

(A)     Two-Pegtest

of   siriITf 3tesit
(C)     Reversaltest

(D)     Spottest

(E)    Answer not known

92®   PGujITL6n6DL+dj   fl6nLLDLL   cgid6Dg=uifo   Qg=rij6SgH   adcog:uifo   ®drgr65Q85ITdrgu

Q5:rfu©§§ITdso5  Qg:flu L]Lj®Lb  GO:IT§cO6FT

a ®ce6Den  G8=ITgco6RT

8+t9ch  G5:ITgco6ar

(C)       P®L]L|  Gg=IT§cO6FT

(D)      pgrs§  G5:IT§cO6FT

(E)      6flcoL Q§flu6fld)co6o
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110.  The length of Engineer's chain is
100 feet

(C)     66feet
(E)     Answernot known

(8)  30 feet
(D)  150 feet

92®  all ITFU IT6ITfr  5=rfu@6fl ufl6dr  SonLb  6T6irL]8H

(A)      100cgi+                                                 (B)   30c"+
(C)     66cfl+                                                (D)  150g+
(E)      6flcoL  G\§flu6fld)co6D

111.  Agonic line is the                        ,

j#   Line connecting zero declination
(8)     Line connecting same declination
(C)     Line connecting zero dip
(D)    Line connecting max and min declination
(E)    Answer not known

Gd5IT6mLb  8L6rfuLITds55IT  G05IT®  6T6iru8i

(A)        d+gr  d=rf\cOOu  @cO6m55©Lb  G05IT®

(8)       g}S§  a:flco6u  @co6mds©Lb  GesIT®

(c)       digr  t!pce65cO65  @cO6mds©Lb  G05IT®

(D)       QH®LD  LDSor-Lb  florLD  ffflcoou  @cO6mds©Lb  GdiIT®

(E)      6flcoL Q§flu6flchco6D

112.  The zero of the graduated circle of a prismatic compass is located at
`  (A)     Westend                                         (B)  Eastend

(C)    North end                                   fBr south end
(E)     Answer not known           `

LILL85§  pcO6=LDIT6rfluflch s9ionqu  G85IT+LL  6uLL§g6dr  ggesluLb  ©rij©  eicoLD¢5jdr6ngi.

(A)       GLD®©  ceco6FT

(C)       ouLds©  cO6n6IT

(E)      6flcoL Q§flu6flchco6o

CECE/2024
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(D)   Q§®©  ceco6FT
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113.  Pure torsion of a circular shaft produces  ,

(A)    Longitudinal normal stress in the shaft
Only direct shear stress in the tranverse section of the shaft

(C)     Circumferential shear stress on a surface element of the shaft

(D)    A longitudinal shear stress in the shaft

(E)    Answer not known

di§§LDIT6FT  (!±jgrds©  ®®  Cull §dr+ch  QO=8u$5iLb  GUIT8|

(A)      §dr+ch Sdr6uLL PITfrLDch cfl®SgLb  9LdrLIT@pgi

(8)      par+ch    ©grds©    igfl6flch    GpgT+uITon   6=orj5©H    Quufrda    gceSgLb    LDL®Lb
g2-drLIT@PgJ.

)

(a)      gdr+ch   GLD®uITL]H   u©pd>   6uLLL   uflguflch  `d=ords©H   G\uufrdfl   g®SBLb
8Ldr L ITch p 5J                              '

(D)     gdr+ch Sdr6uLL ffords©h  Quufrda aceSpfo 82_drLIT@pgi

(E)       6flcoL G\pflu6flch6D6D

114.  The principal stresses  cr], cr2  and  cr3  at a point respectively are 80 Mpa,

30 Mpa and - 40 Mpa. The maximum shear stress is

(A)     20Mpa                                          (B)  40Mpa

Jot  60Mpa                                      (D)  80Mpa
(E)    Answer not known

®®  LidrGfiufldr  cepdrcoro  6fl6u]d:d;dr  cr[, cr2   LD®grfo  cr3  ®6ujpGu  80 Mpa,  30 Mpa

LDfbquLb  -4o Mpa    6T6fld]  Qu®LD  pgrds©  6flcoo=uIT6FTgu

(A)     20Mpa                                          (B)  40Mpa

(C)     60Mpa                                            (D)  80Mpa                              .

(E)      6fl6DL G\§flu6fld)co6D                                                            ,
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115.  When  a  square  or  rectangular  block  subjected  to  a  shear  load  is  in
equilibrium,  the  shear stress in one plane is  always  associated with a
complementary  shear  stress  (of  equal  value)  in  the  other  plane  at

(A)      45°                                                           (B)   6oo

jar    9OO                                                           tD>   i8OO

(E)    Answer not known

d=8jFLb   cflch6DgH   Qd=ch6LidiL]   LjIT6ITLb   (block)   ®®   O=LDflco6u   6=ors5©L]   G\uufrdfl   L]©d;©

(shear  load)  qbLu®SgalLb  GL]ngH,   g2®  uITL]L9d]   (plane)   gLdron  o:gr65©Lj   G\uufrSJ\

§ap55qu  6TL]G\uIT®8|Lb  c9ico§  FT®diLL55ch+u  cFords©L]  G\uufrdfl  gcod5qu   (associated
with   a  \complementary. shear   stress)   LD®p
Gd5IT6ms9ch  ®®55©Lb.

(A)     450

(C)      900

(E)      6flcoL a§flu6flchco6D

116.  Polar modulus for a solid shaft is

A,    £D3

a,    %2D2        ,

(E)    Answer not known

(8)  600

(D)   1800

4D3
16

(D,  £D2

®®    uFLJL9ch

®®  gLLDIT6¢T  dipch,  §6in+ch gb®Ou  LDL®  (gH®Ou)  ©6md5Lb  cae6FTgb

(A,    £D3

(c,    £D2

(E)      6flcoL a?flu6fld)co6D
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117.  The ratio of moment carrying capacity of a circular beam of diameter D
t`     andsquarebeamofsideDis

(C)

(E)    Answer not known

6flLL  g6ITqu  D    gLdron  Gull  6flLLLb  LD®grLb  Lldsdi  ceronqu  D  gLdron  d=gHIT  chLL§g6ir
oucoon  ?®LjiicoL.D  oflfl§Lb  6T6dr6FT?

(A)

(C)

„
4
3„
8

(E)      6flcoL Q§fluoflchco6D

118.  A cantilever beam carries a load 'w' uniformly distributed over its entire
length.  If the `same load is placed at the free end the same cantilever,
then the  ratio  of maximum  deflection in the  first  case  to  that in the
second case will be

(C)

(E)    Answer notknown

nero:dsq§§grITEL€5:£.'w=G:dr:®H#Oucoou±§##;£g##ro:dioug::di;H#
..,

6u6Ds5uflch     9®u®Lb     gg85uLa     6fl6Dd;d5Sg®©Lb,     ®gTdrLITLb     6ucod5uflch     9Sil®Lb
a9g5u La  6fl6Ddsg5SP®©Lb  gLdron 6flfl§Lb

(A)

(C)

3
8
5
8

(E)       OflcoL  Q§fluoflch6u)6D
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119.   Seepage force in the Isotropic soil acts

(A)     Horizontally                                  (B)  Vertically

{Ir   In the direction offlow               (D)  Opposite to the direction offlow
(E)    Answer not known

6Tch6OIT     gcod=55of 8uLb      8=LDLDITd5      L]prquLb      g6dr6nLD      Q65IT6drL      LD6in6fflch      85flqu      6flco8

Q5=uchu®flpg|

(A)       fl60LLDLLLDIT65

(C)      g}LL§9ch 9cod=uflch

(E)      6flcoL a?flu6flchco6D

(8)   Qg=rij©S§ITs5

(D)   g2LLsg6ir gco6=ds©  6Tp7ITs5

120.  The deformation per unit length is called as

4,Strain
(C)     Compressive stress
(E)    Answer not known

®®  g6flL $6ITSpch fl6U)§qu

(A)      9flLl

(C)     g®Sp cg]®SgLb
(E)       6flcoL  G1§flu6fld)co6D

(8)  Tensile st'ress
(D)  Shear stress`

c%di £®ds©Lb

6T6FTacot9ds65L]u®@p8j.

(8)   @®6flcod= g®SgLb

(D)  G\ouL® a®S§Lb

121.  In an object, if longitudinal strain is tensile, the lateral strain will be

(A)    Tensile                                        Of compressive
(C)     Zero                                                  (D)  Either tensile or compressive
(E)    Answer not known

®®      aL]IT®erflch,      $6IT_LDIT6FT     pflH      £®6flcoo=uITdi     £®S§ITch,      L]ds056uITL®      gflLi

(A)      £®6flco6=

(C)     g8uLb
(E)      6flcoL a?flu6flchco6D
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122.  The phreatic line in a homogeneous dam is

(A)     Circular

(8)     Elliptic

(C)     Hyperbolic

jrf   Parabolic
(E)    Answer not known

®GF    §chcoLDuicoLu     dFLD     ei®§§§9ch     Qouof GuguLb     cgico6muflch    Sflch     Gesrr®
6Tdrou +Ou§g ch  8Ldr6ngl

`,

(A)      OULL 6u+ouLb

(8)      Sdr6uLL 6H+OuLb

(c)       eigLJIT6ucO6ITu  Ou+OuLb

(D)       LJIT6LJcoonu  ou+6uLb

(E)      6flcoL Q§flu6flchco6o                                                                                  ,

123.  The  value   of  modulus   of  elasticity  of  soil  used  in  the  immediate
settlement equation, can be found out using

Triaxial test
(8)     Compression test
(C)     Direct sheartest
(D)    Rankine's theory
(E)    Answer not known

LD6drenf\dr   g2_L6FT+   Lico§uigrLb   eioncoou   d56mds@®Lb   FLDch.HITL+ch   LluchLI®§§L]LI®Lb

LfiLJI  LDL®,  £Bd5s5ITgp]Lb  6TS§  G8:ngco6FT  e!p6uLb  eiFULiLj®flp8i 7

(A)       ee6uddi  Gd=IT§6n6FT

(8)       cgH®S§  Gd=IT§co6FT

(c)       GPF+ pords©  Gg=IT§cO6FT

(D)      FITchadr Gg5ITLUIT®  (Rankine's theory)

(E)      6flcoL G\?flu6flchco6D
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124.  While driving a large number of piles in loose sand
•, It is advantageous to follow a sequence of pile driving such that the

inner piles are driven first and then proceed outwards
(8)     That the piles near the periphery and drives first and inner piles

are driven later
(C)    That the alternatively inner and outer piles are driven
(D)    Driving ofpiles can be done in any random series                  .
(E)    Answer not known

&pmflco£:Echro@#dichuu%£;grerdrofldscodiunde   ©§8Hdsd5gr65coon   @p65©fo  "GUITgr   @S§a,

(A)       t!p§6fld>  cOLDUL]u©g  ©§gud;d5grdidr  Lgp©  Gi6uoflL]H©g  ©S8jdso5£didr

(8)       (!pg6flch  G\Oroftry8u  ©S8Hds05gr55dr  Lgp©  cOLDUL]u©g  ©S8H65e5grdidr

(c)       6utLDUL]u©g     LD®orLb     G\6uof L]Lip     ©§galds65grd5dr     LDrtyor     t!pcOpuflch     tdiE9®fl
cecopuflchj

(D)      6ucOFincopu®p  t!pcOpuflch ©pds©§ch

(E)      6flcoL a?flu6flchco6D

125.  Mat foundation is preferred and economical when
I

(A)     theloads are heavy
(8)     thesoilisweak
(C)     the load are heavy and soil is weak

loads  are  heavy,  soil  is  weak  an  isolated  footing    area  exceeds
1/2 area cross by the structure

(E)    Answer not known

uITul  esLdsdsITd]  ofl®LbuLiu®Ou8]  LD®8uLb  JidsdialLDITong|  6TL]QUIT®gH  6T6flch

(A)       c9ig65  uITFLb  @®ds©Lb  GLjngH

(8)       LDdr  L]6D£6FTLDITdi  £®ds©Lb  Guno]

(c)       c9igd5  L]IT7Lb  LD®orLb  LDdr  u6D£6FTLDITdi  @®ds©Lb  Guno]

(D)       e+gdi   uITITLb,   LDdr   u6D£6FTLb   LD®orLb   §6rflS§   diLds55ITd>d5oflch   uITL]uon6H   QLDIT§§

LJFL]u6IT6flch  LJIT9uIT85  (1/2 )  @®ds©Lb  GUITgj

(E)      6flcoL G\gflu6flchcoa)
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126.  The  stress  at  failure  on  the  failure  plane  in  a  cohesionless  soil  man
were : shear stress = 4 kN/m2, normal stress =  10 kN/m2, the resultant
stress will be

# :o¥#fu,m2         ,             \{B; :::€5k¥t#2
(E)    Answer not known

®®rii@co6mLILi  ©ch6DIT§  LDdr Pcopuflch ?cod5qu.  ®® §6IT§gch  G?ITchofl  eicoL@drpgi.
a§dr   QouL®   §codiqu   4  kN/m2  Qd=ri]Gg5ITL®   §co55qu   10  kN/m2   6T6flch   6flco6ITqu
§cO05qu  6TdrLIgi

(A)     6kN/m2
(C)     10.77kN/m2
(E)      6flcoL Q§flu6fld)co6D

(8)   7.745 kN/m2
(D)  9.16 kN/m2

127.  Skempton's pore pressure co-efficient `8' for a saturated soil is
(,,1                                                           (8)  0
(C)      1to2                                                    (D)Otol
(E)    Answer not known

®®     (±p({pcoLDUITen     pco6FTqu®p     LDdrgjdss5ITon     chjQd5LbL]LL6ffldr     5]coon     ei(±p§§ds`

©6m05Lb  `B'ufl6ir  LDgL]Li.

(A)1
(C)      1cp§ch2ouco7

(E)      6flcoL Q§flu6flchco6D

(8)0
(D)   0 oJgch  1  6uco7

128.  In case of standard Penetration test if the number of blows exceeds this
value for 150 mm penetration it is generally refused.
(A)     20                                                        (8)  35
{f3r    50                                                         tD>  70
(E)    Answer not known

F¥%##¥didiHar+©:p%pOu;#ITfcoif#en#=ga5H°ITgrfflourfeidiarffl®di®g+¥endi::::£di#:
(A)     20
(C)      50
(E)      chchL a?flu6fld)co6D
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(8)  35
(D)  70

'                                            CECE/2024

[Turn over

•        `                                                  ,                                                                                    ,     ,        ``         \



129.  A flow net constructed to determine the Seepage through an earth dam
which   is   homogeneous   but   anisotropic,   gave   4   flow   channels   and
16 equipotential drops. The coefficient of permeability in the horizontal
and vertical directions are 4 x  10-7 in/s and  1  x  10-7 in/s respectively.  If'
the storage head is 20 in, then the Seepage per unit length of the dam in
m3/s will be

{jr   lox io-7                                         (B)  2Ox io-7
(C)     30xl0-7                                             (D)  40x|0-7
(E)    Answer not known

Q§§   ±6FTITch   gco6=LDITgrLjITL®    L16drLi   Qd5IT6drL   LDdr   eico6mufldr   6ugivGu   05flcoou§

&F9¥fl6flcodsudi:fodiJes+ITH®H§t;.S#|LroLLLourorpcogrfo4QgEN+:??GITgenTsdi;co#fosfr±6®uffFroouF££
...,

Q65®   ®cOpGu   4   x    lo-7   Ls/ao=056inL   LDSorLb    1   x    lo-7   Lfi/Q6:d56inL   G5=d5flLjLgdr

8Lu7Lb    20     L§LLfr    6T6trf\ch    e]cO6muflch    g2IT6D©    $6ngg®©    diflqu     L63/QO=didrL+ch

±©LD.

(A)      10xl0-7
(C)     30xl0-7
(E)      6flcoL G\§flu6flchco6D

(8)  20 x 10-7
(D)  40 x  10-7

130.  The water content of a highly organic soil is determined is an oven at a
temperature of

(A)     105°Cto||o°C

jBr`   600 c to 800 c
(C)     27°Cto5ooC

(D)     4°Cto|ooC
\

(E)    Answer not known

ag         05flLD         LD6dr6nd6{IT         FTITL]LI§Lb         esdrLFULLI®Ou§®©         L6\dr         ei®L]Lflch
uuchu®SgL]u®Lb  Gg6n6uuITen  Q6uL]uP6D6D  tfl6ITqu.

(A)     105°Cto||o°C
(8)     6o°Cto8ooC

(C)     27°Cto5ooC

(D)     4°Cto|ooC
(E)      6flcoL  G\§fluoflchco6o
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131.  Classify the fine grained soil having liquid limit of 40% and plastic limit
of 22% using IS soil classification system.

UAI)  NI                                       Of ar
(C)     CH                                                       (D)  ML

(E)    Answer notknown

ggT6u   6uFTLbH   4o%   LDfborLb   opflSqu   6uprLbLi   22%   o05IT6drL  grdroflu   LD6inco6m  Is
Lj]dr  6ucOs5LjuIT®  (!pcOpcOuL]  L]uchu®§g  6ucod5L]u®S§6HLb.                                                 '

(A)     MI                                                      (B)  CI

(C)     CH                                                      (D)  ML

(E)      6flcoL a?fluoflchcoco

132.  In the design of Toe slab of a retaining wall (Cantilever), the following
forces are considered.

(A)     Weight of soil, above the toe and downward weight of slab
(8)     Weight ofsoil above the toe and upward soil pressure
(C)     Weight of soil above the toe, downward weight of slab and upward

soil pressure.

Jpr  upward soil pressure and downward weight of slab              .
(E)    Answer notknown

ao5IT®rfucoS    Ou6u7SS    gITrij©    dioufldj,    (!pdr   SLLL]u6D6uj85    6ij+Ou6u7LDLILflch    £Sdsd56drL

oflco6=d5dr  d5qjIT65fld>  Q55ITdr6ITL] u ®@p5j.

(A)      cpdr SLLLj  uaj85Sgdr  cLDch  u©gun8udror  LD6drofdr  6T6u]L  LDporLb  £SGPITds@
od=uchLI®Lb  Li6Ddi§g6ir  6T6wL

(8)       cedr     SLLL]      Lj6065§gch     GLDchLI©ginch     8Ldron     LD6inenflch     6T6wL     LD®9uLb
GLDchGPITd;ch  Q6=uchLi®Lb  LDdr  ei({p§?Lb

(C) cedr      SLLL]L16D05§gch      GLD®LI©gulgudron      LD6in6of\dr      6T6nL,      £BGPITdsfl
Q8:uchu®Lb  Lj6D85Sgch  6TcOL    GLDd>GPITds@u  LDdr  si({pSpLb          ,

GLDdjGPITs5@.u  Lode  e]®SgLb  LDfborLb  £S  GPITds@u  u6Dd5Sg6dr  6T6nL

6flcoL a?flu6flchcoap
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133.  A column is regarded as long column if the ratio of its effective length
and lateral dimension exceeds.

UAI)   ro                                             Of Tfj
(C)     20                                                            (D)  25
(E)    Answer not known

\

®®   8TraftIT   SdrL   Qp®S8TT6mIT55   d5®g   c9i§6dr   L]ugjdron   8LUITLb    LD®grLb    Ljds656LiITL®
c916ITqu 6flfl§ScO§  oflL  c9igs5LDITs5  G6Lidr® Lb

(A)      10                                                          (8)   15
(C)     20                                                           (D)  25
(E)      OflcoL G\§fluoflchco6o

134.  The  connection  of  vertical  stiffener  to  the  web  of  plate  girder  are
desi.gned for

where fz„ = web thickness in mm
bs = outstand width of the stiffener in mm.

(A)    Shear force #

(C)     Moment

(E)    Answer not known

'` Shear force

(D)  Moment Efe
5bs

Q8=rij©S8H       6flcopL]uITgjLdr      85L®       8LsgITsgch      web-®s5IT6uT      ©6u76mL]L]ITdr65dr
ou+6u6nLDd;s5L]u®6ugj

fz„ =  OucO6D§  §+LJ)ch  L6\L8

bs =   L61L6-uflch  OflcopL]LiIT6fflch  eiquLchjLIT6inL  ei656DLb

(A)       ©grds©  6fl6u>8:

(C)       9®L]L|cOLD

(E)      6flcoL Q§flu6flchco6o
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f2["
(D)  9®LiLi6nLD  -
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135.  In  bolted  connections,  centre  to  centre  spacing  of the  bolts  in  a  row,
measured along the direction of load is termed as

(A)     Gauge distance                            4EJ  pitch
(C)     Edge distance                                (D)  Staggered distance

(E)    Answer not known

GLIITchL         Qg=uluLLILL         ©co6mL]Li556Tflch         orflcoo=uIT55         gLdron         GLIITchLgs6Tflch

cOLDusg6fl®S8j  6nLDu  @cOLQ6uofl  LD®orLb  dicoLDufldr  gco6=uflch  a6IT6flLLju®Lb  8tTFLb

6T6FT  c9| cOE9dsd5LJ LJ ®flp8H

(A)      a6ITofL®  orITLb

(c)       6fl6flLbLi  or7Lb

(E)      6flcoL a?fluchchco6D

(8)   L9Ld

(D)   pcO6D§grITLb

1\36.  Provision of ordinary steel reinforcement becomes essential in addition
to prestressing tendons in the production of light precast elements, so as
to

(A)     Enhance the bending resistance of precast elements
{Er  Avoid failure of the elements at the time of jacking
(C)    Avoid flexural cracks at the time ofloading

/

(D)    Enhance the shear capacity of the element
(E)    Answer not known

@G6Dg:IT6FT  (pdr6uITfrL]Li   05®05ITcOIT  G\L] IT®L65oflch  (!pdr§cO55qu   6flcog:cOu   c9i©§8iLb  §coff

pITdrGLjIT65,   6=IT§ITIT6{jtjT   6TOoO©   ep6DLb   6u6flebLLquLb   Q6:ulou8I   fchFucOLDUITg§IT@pgH.
9dr?

(A)       (p6irrGUITfrLjLi  QUIT®LtE6rf\6ir  oucoon6H  6TpfrL]cOLj  ags5L]u®SgH6u§®©

(a)       QUIT®Lg5ch §coes6H6flcoff  Qg5IT®65©Lb  G\LJIT®gH  g®LJ®Lb  (!pFcoou  §®LILJ§®©

(c)       QLjIT®L05cO6IT  Oudr+uflch  9®orLb  QL]IT®5j  q®u®Lb  6ucoonqu  £7cO6O  §®L]u§®©

(D)      QL]IT®drfldr por65©  ppcO6FT eigs5L]Lj®S§

(E)      6flcoL Q§fluoflchcoco
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137.  Pre-stressing of indeterminate structures should take care of

(A)     High strength concrete and high tensile steel
(8)     Loadbalancing
(C)     Partial safety factors
jrf   Both (A) and (c)
(E)    Answer not known

8Lgrgu®p     d5LLcOLDL]Lid56Tflch     (!p6ir     §cod5OuIT6ngi      Lgchou®Ou6FT6u®grdr
Qd5IT6dr®  u ITgudiITds@p8]

(A)       eigdi  Ou6flcoLD  QdiITdrL  diITchflffL  LDjb'orLb  8Lufr ©®oflco8  6TOoO©

(8)       .dicoLD  gLDdco6D

(c)       u©g  unojd5ITL]Li  d5ITF6oflo5dr

(D)      (A)  LD®orLb  (c)  @ITdrdLb

(E)      6flcoL Q§flu6fld)coco

138.  When both ends of a column are restrained by beams, the unsupported
length should not exceed

(A)     608
(8)     60D

or loo . 82 D

(D)     100D2B

(E)    Answer not known

®®       8]T6ofl6ir      @®       (!pcO6FTd5(8Lb       6flLLrfu65er+ITch       05L®LILj®S§L]u®Lb       Gung],
§ITri]c5L]LILIT§  SonLb  ©cO§  oflL  eigd5LljITdi  ©®dsd5  chLngb                                             .

(A)     608
(8)     60D

(c)     10082D

(D)     100D2B

(E)      6flcoL Q§flu6flch6u)co
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139.  A measure of tensile strength of extreme fibre in bending of R.C. beam is

(A)     Modulus ofsubgrade                   (B)  Young's modulus
(C)    Bulk modulus                             jIrModulus of rupture
(E)     Answer not known                                                           '

&®coffEigg6flLLfo    6u6monHfo    GUIT9    Qouofl    ei®ds@ch    gL®6uIT65ds    th+u    a({p

(A)       §ITrij©  G\s5(±p                                                      (B)    urij'chj  ad5({p

(C)       G\u®ds65  Qdi({p                                                  (D)   (!pFqds  Qd5(±p

(E)      6flcoL a?flu6fld)co6D

140.  Approximate  formula  for  estimating  the  effective  width  of  flange  of
T-beam as, per IS 456 : 2000 is

(A)      lo/6+bw+ 3Df                               (B)   1o/12+bw+6Df
lo/6+bw+6Df                          I        (D)   1o/12+bw+3Df

(E)    Answer not known

IS  456  :  2ooo  dr  Lj+,  T-oflLLSpdr  oflof LbLg6ir  Ljug]dron  e]g56uScog  GgITFTITULDIT55
rogLjL£®   G\g:ulquLb  ouITulL]L]IT®

(A)      1o/6+bw+3Df
(C)      lo/6+bw+6Df
(E)      6flcoL G\?flu6flchco6o

(8)   lo/12+bw+6Df
(D)   1o/12+bw+3Df

141.  The  Depth  of  centre  of  compressive  force  from  the  extreme  fibre  in
compression in terms of neutral axis depth #w is

UAID    0.#Rj xu,                                               irf o.4f2]xu,
(C)     0.43#„                                                   (D)  0.446#„
(E)    Answer not known

©or6595      oflco6=     qbLQdiITdrt8Lb      ©LLDITon8H,      ©8Hd;85Sgde      c±bLULL      QgITcO6D8]TF

@cOE9uflch  @®S8H  a6ITds©Lb  Qufr®8I` ffLDFcO6D  c9]dflch  8LUFsgch  t#L4j  ©FLjLflLLITch
±©LD.

(A)     0.36#"
(C)      0.43#"
(E)      6fl6nL Osflu6fld)6n6D
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(8)   0.42 #"
(D)  0.446 #"
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142.  These are best suited to sheltered sites and not reliable for very heavy
Seas.

Vertical wall breakwaters
(C)     Floating breakwaters
(E)    Answer not known

(8)  Composite breakwaters
(D)  Hydraulic breakwaters

©cOoud5dr,     LDcope5Lch     LI©gds©,     9®pgb     qb6FTITch     a6n6D     9gd5codron     diLeprds©
q®p§d,6D

(A)      Q5:rii©Sg  di6ufr Sfr §cOL55dr

(c)       Lfl§cO6u  Sfr pchL85dr

(E)       OflcoL  G\?fluoflchco6o

(8)   05cOL]Li  Sfr $6nL05dr

(D)   Sflufluch Sfr §cOL55dr

143.  It is a place where ships may be held for quarantine inspection to await
clucking space or to await fair weather conditions
(A)    Marine Terminal                     ¢Anchorage Area
(C)     Turning Basin                             (D)  Free port
(E)    Answer not known

©8]        d5L]uch656non        p8uS8uLb        ©LSp®85ITd5        c9idj6D5i        6=rf\uIT6IT        6uIT6flcocos595ITd5
95rrsp®LILJgfb85ITg5  §6fl6nLDL]LJ®S§LJULL  cgulqudss5ITd5  co6ud;85L]L]®Lb  @LLDIT©Lb.

(A)       d5Ld>  (!p6uj6uruLb                                            (B)   prfuthFLb  u©9

(c)       g®LbLiLb  cpcoenuLb                                    (D)   ©a)6u6: 8al6u)pce85Lb

(E)      OflcoL a?fluoflchco6o

144.  If the aircraft is flying at a speed of 500 kmph and \there is a held wind
of 50h kmph, then air speed is

(€)  :::::::                    &::: ::::
(E)    Answer notknown                              ,

Lo6Of\ds©    500    fl.L8.    G6ug5S9d)    ®®    6flLDIT6urLb    upS5©Lb    GUITg],    LD6Oflds©    50    a.Lfi.
GOuo5§gch  §cO6Ods  85rtygr  offl6FTITch,  05rtygivch  GOudiLb  6TchLigal  LD6of\ds©

(A)       550@.Lfi.

(C)      400fl.LS.

(E)      6flchL a?flu-6flchch6D

CECE/2024 64
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(D)   450 fl.L6.
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145.  A Warner signal, which is first seen by the driver is
(A)     disc signal                                      (B)  home signal
4er   outer signal                                 (D)  routing signal
(E)    Answer not known

®L.®p7ITd)  (!pg6flch  uITfrd5diL] u®Lb  6Td6=fldsenes  g=Lfldscods

(A)       6uL®  6=Lflds6ng5                                                    (B)    OfL®  6=Lfldscos5

(c)        a6uof  d:Lfld;6uD85                                                     (D)   Ougr85ITL®  8=Lfl65cotB

(E)      OflcoL Qgflu6flch6n6D

146.  Which type of crossing is provided when two tracks of either the same
gauge or of different gauges each other?
(A)     Spring or movable crossing      {Br Diamond crossing
(C)     CMS crossing                                (D)  Built up crossing
(E)    Answer not known

d=LD  ©cOLQOualnuidr6IT  ach6D5i  GOu9uHLL  ©cOLQOuof uidron ©Fdr®  ©Fuflch  §Lrfud5dr

©ordsfl®Lb  Guno|  e|cOLDds©Lb  (±pcOp g©LD.

(A)      di®dr c9]ch6Dgal  pdiIT55th+u  ©ords£®  (a)   LULD6inL ©grds£®

(c)      cMs ©ords£®                                       (D)  95LLL]uLL ©grd;£®
(E)      6flcoL Q§flu6flchcoco

147.  Prefabricated Bituminized Surfacing (PBS) is used to prevent with water
entry into which of the following compacted layer
(A)     Wearing course                            (B)  Base course
(C)    Roadbase                                  jprsub grade
(E)    Answer not known

Lgdrou®Lb  6TSp  cEdagLDrr6RT  god;©ds©dr Sfr gu6DE96u6Dgs  §®dss,  cedr guITfldsd5LjuLL
Lfl®Lflon6fu  Q5=uluLluLi  GLD®uITL]Li  uu6dru®SPLlu®@pgH.

(A)       G§iijLDITondss5ITLjLi  a®ds©                          (B)    cfH+6ufl6n8=  g=IT6u)6D  a®d;©`          (C)       g=IT6D6D  a+Lju6u)L  a®d5©                      (D)   gHco6m§en  cgH®ds©

(E)       6fl6DL  Q§fluoflch6D6D                                                  .
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148.  Bitumen grade 80/100 indicates that under the sta.ndard test condition,
penetration value of bitumen would
(A)     0.8mmtolmm
(C)     8cmtol0cm
(E)    Answer not known

vary from
8 mm to 10 mm

(D)  0.08 mm to 0.10 mm

§ITfl6dr    g7Lb    8O/loo    FcO6DUIT6FT    Gg=IT§cO6FT    FcO6uufld>,    6T6flch    §ITfl6ir    (bitumen)
8L6Tr®®6ud>  LDgLj Li  6Tdrou ITor   LDITor LJ®flpgal.

(A)     0.8mmtolmm
(C)     8cmtol0cm
(E)       OflcoL G\§fluoflchco6o

(8)  8 mm to 10 mm
(D)  0.08 mm to 0.10 mm

149.  If the camber is 3%, width of the road is 7.5 in wide, the camber amount
will be
(A)     11.25mm                                     ¢  112.5mm
(C)      1.125mm                                            (D)  0.1125mm
(E)    Answer not known

d5IT6®6D     6nLDu     gLufrdJ\     3%     c2bdiQiLb,     6:rrco6oufldr     cgidi6oLb     7.5     L8     e+d56DLDITdiquLb

©®S§ITch,  d=IT6w60  6nLDu  8Lufrdflufldr  ei6ITqu  6Tdr6u6ITOuIT05  ©®ds©Lb.
I

(A)        11.25  Lfl.L§.                                                          (B)    112.5  L61.LB.

(C)        1.125  Lfl.L§.                                         .              (D)   0.1125  Lfl.Lfi.

(E)      6flcoL G\§flu6flchcoco

150.  The maximum super-elevation on hill roads and urban roads should not
•exceed respectively.

(A)     7%and4%                                       (B)  8%and4%
(C)     4%andl0%                                  jpJ  10%and4%
(E)    Answer not known

eig65uL5=      ©grds©      OuITLLLb,      LDcO6DL]Llrrco?      d=IT6w6O      LDjbgr.Lb      pd5frL]Lip      d=ITcO6D55©
com  oflL e+g65fldsd5dsthLITgu

(8)   8%  LD®orLb  4%

(D)   1o%  LD®orLb  4%

LD®orLb

(A)       7%  LD®orLb4%

(c)`      4%  LD®orLb  lo%

(E)      OflcoL G\§fluoflchco6o

CECE/2024 66



151.  State the fastest and slowest transportation

Transportation by air and water

(8)     Transportation by road and railway
(C)     Transportation by air and road
(D)    Transportation by water and road
(E)    Answer not known

c9igG6udi  LD®orLb  eigroSg  GL]ITd;©6u FTS8H  (!pcOpu]IT6FT5]

(A)       6uITdr  LD®grLb  Sfr

(B)        d;ITcO6O  L.D®9uLb  Licod5Ou6dr+

(c)        GUITdr  LD®gr.Lb  ffITcO6D

(D)        Sfr  LD®orLb  6=ITcO6O

(F)      6flcoL a§flu6fld>6nco

cecop g©LD.

152.  Identity of sound (I) where `d' is distance from the source

(C)     I-

Power
47T d;2'

Power
4ITd

(E)    Answer not known

(8)  I-

(D)   J=

Power
47t d8

Power
47TJ5d

` 82Gfluflch £6fl7Lb  (I)  6TchL]8H,  @gch  `d'  6T6dru8]  g2_®usguIT©Lb  @Lsgdr orITLb

(A)     I-

(C)     I-

Power
47t d2

Power
4fl: d

(E)      6flcoL Qgfluofld)coco

67

(B)  I-

(D)   J=

Power
47{ d;3

Power
4ITfid
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153.  In   order   to   keep   the   unequal   stresses   created   on   account   of  the
expansion  and  contraction  joints  provided  in  Hollow  Block  Masonry
under control, controlled joints are introduced a\t definite intervals of

5 to 10 in

(C)      15to20m

(E)    Answer not known

(8)   10 to 15 in

(D)  6 to 12 in

8Ldr6ffL®p     diL+05cO6ITds     G\05ITdr®      d5L+LLb     s5L®LbGLjIT8]      6:LDLflch6DIT§     ScO656Lid5dr

8L®OuIT@  di®rfu©Lb  GUITgHLb  oflfluiLb  GungalLb  a co6mLIHs5dr  s5L®LjL]ITL®55©dr @®5555,

6TS§  chcoLQOuof unch  ©cO6mL]Lid5dr ©®dsdi  GOudr®Lb

(A)      5  (!p§ch 10  L8  6uco7                                  (B)   10  (!p§ch 15.L6  6uco7

(C)       15  (!p§ed20  L6  encoF                                (D)   6  (!p§ch  12  Lfi  6ucoIT

(E)  J   6flcoL  Qgflu6flch6u)6D

154.  The uncoursed square rubble, masonry also sometimes called as

(A)     Random rubble masonry

jpJ    Square snecked rubble masonry
(C)     Polywalling

(D)    Flint square walling

(E)    Answer not known

£7cOLD65diLluLng  5=gH 7  e5L®ddioufr  a6D  Gp7riie5oflch

(A)       £prbp  05ch  cL6ufr55dr

(8)        d=8j7  LjITLbH  6Li+6u  d5ch  di6ufrs5dr

(c)       uoru6ITLiLi  di6ufr                        `
/

(D)       s=8j7  Gs5IT®  dioufr

(E)      6flcoL  Q§flu6flchco6D
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155.  Maximum free  water cement ratio  required for Reinforced concrete  as

per Moderate exposure is

(A)      0.36

0.50

(E)    Answer not known

(8)  0.48

(D)  0.60

LflgLDrr6{rT Fco6D65©  Qou6flL]uLL ouguebL+u  g`drdiITcopds©S  GgcoouL]Lj®Lb  ei9diuLa

diLL®p  Sfr flaLD6inL  ofl@§Lb  f8HOuIT©Lb.

(A)     0.36

(C)      0.50

(E)      OflcoL Qgflu6flchco6D

(8)  0.48

(D)  0.60

156.  Ultrasonic pulse velocity method is used in concrete to determine

(A)     Impact resistance ofconciete                              '

(8)     tensile strength of concrete

quality of concrete and strength of h.ardened concrete

(D)    compressive strength of concrete

(E)    Answer not known

c9id]LITITc8:ITof\g5                  uchch]                  gcoo:G6us5Lb,                  diIT6drflffL+ch       `         £g®65ITs5Lj

uu6dru®SpLiL]®achpgal7

(A)        05ITchflfiL+ch  §ITds65  6TgfrL]Li     +

(8)       g5ITchflfiL+ch £({poflcog=  6u661coLD

(c)        g5ITchflffL  §ITLb  LD®orLb  ou6flcoLD

(D)       85ITdr@ffL  g®SgiLb  6u6fl6u7LD

(E)      OflcoL a?flu6flchco6o

P
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157. Consider the following stages in the manufacturing of bricks :
Weathering
Moulding
Tempering

Correct sequences of these stages in the manufacturing of bricks :
1,

(C)      2,
(E)    Answer not known

1

Q5:rfu65ch  gdiITflL]Lgch  Lfldr6u®Lb  Pcoaj55coon  65®gjg5  :

1.         fl6nsqu
2.          6uITfrsgdj

3.           CP8Hdscd5®pch

Q6=rfuc5d>  §uITflL]Lflch  O=fluIT6FT  Ouflco6=dsfl7LDLb   :

(A)      1,3,2                                                   (8)   1,2,3

(C)      2,3,1                                                     (D)  3,2,1

(E)       6in6nL  G\gflu6fldj6n6D

158.  The types of stones preferred for Pavings, door sills and steps are

(A)     Granite, Gneisses and compact sand stone
(8)     Lime stone and sand stone
(C)     Sand stones and Granite
{fy    Slate, Sand stone and Marble
(E)    Answer not known

pcOLLIITcO?,   d5§6fl6dr  9i+LDLLLb   LD®grLb   Li+dit9ds©   Lludru®§?L]u®Lb   65®ri]d5ch6fldr
6u6wd595dr

(A)       @7ITcoonL,  Qg3Oflch],.@®flu  LD6rmch  55d)

(8)        ch6dr6mITLbLi  55ch  LDjbgrLb  LD6mch  d5ch

t       (c)         LD6mch  d5ch   LD®orLb  flITITcO6FTL_

(D)        J\G6DL,   LD6rmTch  05®05dr  LD®orLb  di6dr6mITLbLi   L]6DcO55

(E)       Ofl6u)L  G\pfluofld)6n6D
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159.  Pozzolanas are materials that react with

4rf   calcium hydroxide                     (B)  Tricalcium aluminate
(C)     Aluminium hydroxide                (D)  Sodium oxalate
(E)    Answer not known

u6:G6DIT6FTrr  `6TchugH  @§gjL6dr  Oflco6FTLifluiLb  ®®  QUIT®onIT©Lb

(A)       d5ITchflufo  cogpLprITdscoco®                      (B)    L6u)IT  85rrd)fluLb`cg+guLflGenL

(c)       c9ie#Lfl6fluLb  coapL7ITdsco6Tu®               (D)   G5=IT+uLb  c2b556TUG6uL

(E)      6flcoL G\§flu6flchcoco

J

160.  A  sample  of clayey  soil  of natural  moisture  content  32%  has  a  liquid
limit of 42% and plastic limit of 22%. The liquidity index of the soil is

(A)     0.2                                                         (8)   0.05

ar    0.5                                              (D)  2
(E)    Answer not known

®®  s5oflLDdr §drcoLDuicoLu  LD6dr6ofldr  LDITgflufld]  @u®codiuIT6FT  FTFu§Lb  32%,  e]gdr

?ITOu  6Tch6n6D  42%,  ©cog>L.D  6Tch6n6D  22%.  eiS§  LD6dr6rflch gF6u  FcOcO  ©givrf®

(A)     0.2                                                          (8)   0.05                          '
(C)      0.5                                                            (D)  2

(E)      6flcoL Q§flu6flchco6D

161.  At the location ofplastic hinge                                                       ,

(A)    radius of curvature is infinite {#curvature is infinite
(C)     moment is infinite                      (D)  flexural stress is infinite
(E)    Answer not known

QpflS  dit9ch  8L®6uIT©Lb  @LLb

(A)       (!p+Oflch6DIT  oucoonQi  g7Lb                      (B)   (!p+6flch6DIT  ouco6IT6H

(C)       (!p+Oflch6DIT  cp®j5©  Oflcog:                      (D)   (±P+Oflch6DIT  QpflSqu  gcodiqu

(E)       6flcoL  Q§flu6flch6u)6D
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162.  In plastic theory, shape factor is defined as the ratio of

Plastic Modulus of Section

Elastic Modulus of Section

(8)     Elastic Modulus of section

Plastic Modulus of Section

(C)     Shear Modulus of section

Plastic Modulus of Section

(D)    Plastic Modulus of section

Shear Modulus of Section

(E)    Answer not known

LflGITITch)+j5           (G\Pfl©6H)           GdiITLUITL+ch           ou+ou           diIT76Ofl

6ucopruords05Lju®flp8H.

(A)        Lflfl6fl6ir  LflonIT6fo+ds  LDIT®6D6in

Lflfl6flch  L6dr  roIT®6D6fo

(8)        Lgfloflch  Lfidr  LDIT®6D6fo

Lg flofldr  Lg{6ITIT6iv+ds  LDIT®6D6fo

(C)        Lflfloflch  G\ouL®  LDIT®6o6fo

Lflfl6flch  L9onITGiv+ds  LDIT®6?6fo

(D)       Lflfl6fldr  Lfl 6ITIT6fo+d;   LDIT®6Dch

d*LDIT®606in

(E)      OflcoL Q§fluoflchco6o

+
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163.  A load  rolling  on  a  suspension bridge  without  a  stiffening  girder  will

change in its shape
(C)     bending moment
(E)    Answer not known

(8)  excessive tension
(D)  none of the above

®®  di6DLD  G\§rrriJ©  uIT6usgch  gL®(gLb  GUITg|  OflcopL]gL®Lb  gLS97Lb  fchco6DQu6flch
g2_®ou ITOugH                                                                                                                                                                             `

(A)       ei§6dr  gL®6u  6u+ouLb  LDITffl6fl®Lb      ,(8)   e]g55LiLj+uIT6FT a({poflco5=

(C)       oucoon6H  9®L]LicoLD                                       (D)   GLDG6D  ©FL]LflLLgch  6TgH6HLflchco6o

(E)      6flcoL a?flu6flchco6o

164.  The  maximum stress on a column,  when the load is  suddenly applied,
equal to
Where,
W = Weight of the column
I = Length of the column
A = Cross-sectional area
E = Young's modulus

(E)    Answer not known

92®   gjT6rfl6ir    L8gp,    gLfaIT6FT
©g®©  d=LDL6

@rfu©

w = gr6fflch 6T6nL
I = grof ch SonLb
A = 8]T6rf\ch ©or65©Li  u7L]Li

E =  uriJ  .©6mo5Lb

(E)      6flcoL Q§flu6flchcoco

P

di6DLDcOu    uudru®SgalLbGUITgH,    a+§ch   aL]®LD   §cO056H
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165.  In a suspended cable

(A)     the tension is constant Throughout

(8)     the B.M as zero everywhere
the B.M can be reduced by increasing the pull

(D)     none of the above

(E)    Answer not known

Qgrrrij©  6uLLb  eich6ogp  diLbLfl  6TchLJgp

(A)       @@Gflcoff  ce@6uguLb  LDITbITgal

(8).      6Tch6DIT @LsgeprLb  g®L]LicoLD  gfatuLb

(C)       a({PL]LJcog  c8}]9S5fls§ITch  g®L]L|cOLD  ©cOPu|Lb

(D)       GLDG6D  ©FLILflLL  6TguQ|Lflchco6o

(E)      6flcoL Q§flu6fld)co6o

166.  When a cable sags due to its self weight, its profile is

Jrf catenary

(8)     elliptic

(C)     hyperbola

(D)    parabola

(E)    Answer not known

g2®   6uLLb   ei?ch  `diu   6TcoLuflenITch   Q§ITrij©Lb   GLingi   ei§ch   6u+ouLb
±©Lb.

(A)       Sdr  LIFOucO6ITULb

(8)      Sdr6uLLLb

(C)        c919HIT6u6D6ITULb

(D)       LJFouenonuLb

(E)      6flcoL G\?flu6flchco6D
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167.  When Environmental Lapse Rate [ELR] is less than the Adiabatic Lapse
Rate [ALR], the atmosphere is said to be                         '

#Inversion                                 (B)  NeutralSub-adiabatic                                (D)  Super-adiabatic
(E)    Answer not knowri

ei+UITLI+ds    ©cOLQOuofl     of§Lb    (!pcopapu     oflL    ch®grdt5.pch    ©cOLa6udi.`   of?Lb
-`.^-,,..®-®

©cop6uIT55  ©®LjL9ch,  eiS§  ©Epch

(A)       6TgfrLDcOp

(C)      gHco6m a+uITu+ds

(E)      OflcoL a?fluoflchcoco

6TenLjL]®Lb.

(8)   p®Pco6u ,

(D)  8LufrS§ i+uITu+ds

168.  The relative stiffness of a member at a joint, whose farther end is hinged
(A;)      2JI/4l

•81 / 41

(a)     8Iien    \                                         (D)  I.6Ii6i
(E)    Answer not known

®®    (!pL+ch    ®®    u©Puflch    §ITrii.@ufl®65©Lb    CungH    cgi§ch    ®LILflL®     u7L]couds
s56md;@L  gLgquLb  ©SpgTLb

(A;)      2JI/4l
(a)      811`61
(E)      OflcoL G\?fluoflchcoco

(8)  81 I 41
(D)  16J/6'

169.  A propped cantilever of span `L' is subjected to a moment `M' (sagging) at
the propped end, the reaction at the  fixed end will be
tA:]     Mi2,L                                            ipr8Mi2,L
(a)     MIL      .      .                                   (D)2,Ml8L
(E)    Answer no`t known

®®  (!pL®  Q§ITrii©  gL§PIT§9ch  SLLLb  `L'  ei9ch  LluchLiL®  6tl®Lb  9®LiLicoLD  `M'
(Q§ITriio5ch)      £6D65      (!pcO6uTufld>      <9i§9]cOLu      6Tgfr6flco6uT      gLgrgL]L]®gr      (!pcO6FTuflch

@®ds©Lb  GUITg]

(A;)      M/2JL
(C)     M/I
(E)      OflcoL  Q§fluoflchco6o

75

(8)   3M I-2JL
(D)  2JM I SL

CECE/2024
[Turn over
/                   \      `,      i



170.  To generate the jffr  column of the flexibility matrix

(A)     a   unit    displacement   is    applied    at   co-ordinate    `j'    and   the
displacements are calculated at all co-ordinates

(8)     a   unit   force   is   applied   at   co-ordinate   `j'   and   the   forces   are
calculated at all co-ordinates
a rinit force is applie'd at co-ordinate `j' and the displacements are
calculated at all' co-ordinates

(D)     a unit displacement_is applied at co-ordinate `j' and the forces are
calculated at all co-ordinates

(E)    Answer not known

©Ong595  c9i6anuflch  `j'  -6Ligp  FFcO6O  (columri)  82_®OuITds©Ou?®©,

(A)       g2fr    ±prco©    ©LL]G\Liufrdrflcou     `j'    6T9]Lb     qbu§gch     Qd=uchLj®§g     6Tch6OIT
±±bu rfus56ffl8H Lb  82_dron a LLjQuufrdacou  856mds@®6ugj

(8)      gITi£J:h©#co|iF#ids`J;®erougprgfo  c%u§?ch  G\d=uchLJ®§9,  6Tch6DIT  ¥bufudioflgfo

(C)       g2fr  ei6D©  Oflcog:com   `j'  6Tg]Lb  qbusgch   Qo=uchLI®S9,   6Tch6DIT  qburiidictflguLb
gLdron a LLjG\ Ll u frd=flcou  di6mdsfl ®ougH

(D)      ®fr    g6D©    ©LL]auufrdflchu    `j'    6Tg]Lb    c¥busgch    G\6=udju®Sg     6TchajIT
±=buriJd5Of guLb  gLdron  Oflcoo=cou  d56mdsch®ougp

(E)       OflcoL G\§fluoflchco6D

171.  Eutrophication of water bodies is caused by the
(A)     discharge of toxic substances

discharge of excessive Nitrogen and Phosphorus
(C)     discharge of excessive BOD
(D)     discharge of excessive suspended solids
(E)    Answer not known

Sfrpco6Ds5dr       "8L6ITLL       pcOp"       (Eutrophication)       6Tdrp   t   pcO6Dd;©       6TgenITch
§dr6ITL] u ®@p8|                          \

(A)       pdro+S§chcoLDuidrG"5gr6HSfr  di6OL]L]§6FTITch

(8)        t9igo5LI+uIT6FT  cOpLIT83ch  LD®grLb  LIITch>LIFch>  gLdron  digiv6H  056OL]Li?6FTITch

(c)       eigdiLj+uIT6FT  BOD  82_dr6"5gr6H  s56DLiu§6FTITch

(D)      ag05u+uIT6FT     Q§ITrij©Lb     8|05drdidr     (suspended     solids)     8Ldron     s5enqu
956uLjugonITch

(E)       OflcoL  Q§fluoflchco6D
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172.  The Primary Air pollutants are
(A)     03ands02
(C)     C02and03
(E)'    Answer not kriown

55IT®cOp  LDITg+u ®S8| Lb  ([p§6ircoLD  diITITofls5dr

(A)       03LD®8uLb  s02

(c)      co2  LD®orLb  o3

(E)       OflcoL G\§fluoflchcoco

¢ S02 and N0x
(D)  NOx and 03

(8)   so2  LD®orLb No.x

(D)   Nox LD®orLb  o3

173.  Rainfalls on a roof made up of concrete with plastered surface  (run-off'
co-effi.cient = 0.72). If the intensity of rain is 10mm / hr and the roof area
is 100m2 , the max quantity of surface run-off generated would be
(A)     0.02L/S                                 '      {#0.2L/S
(C)     2L/S                                                   (D)  20L/S
(E)    Answer not known

d=ITSgp    g5=L]LjLL    d5ITrilffLLITch    qb6ur    ch6nIT    g2chgivch    GLDch    LDcop    QLJiiJchpgp.    eiS§

#.#thch;IT=g®HOuITH©L:&ITL%gdiF:E.esgp=?°i7£'ITE:PG#onfror:g®di®HLrogdi®%SflL£.,,,

a6IT6Li  6Tchou6IT6Li ?

(A)     0.02L/S
(C)     2L/S
(E)      OflcoL Q§fluoflchco6D

(8)  0. 2 L/S
(D)  20 L/S

174.  Leachate is a coloured liquid, that comes out of
(A)    Septic tanks                              {Ir sanitary land fills
(C)     Compost plant                              (D)  Aerated lagoons
(E)    Answer not known

6$6=ITL®  6Tdru8j  pp  g7OuLb,  ei8]  6Tgch £®Sg  Q6uof Gu  6u®Lb

(A)       6foLJ+ds  G\gITL+                                             (B)   6:6fflLLfl  p6DLb  pFL]L|§d)

(c)        d5LbGUIT6foL  Lfl6DIT6irL                                      (D)   d5IT¢GPITLLLDITon  ©6ITrijs5dr

(E)       Ofl6DL  Qgfluofld)6u76o
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175.  Assertion [A]

Reason [R]

Sewers are not allowed to Flow Full

Reserve  Space  in  the  Sewer  Takes  care  of
Fluctuations in the Sewage Flow.

(A)     [A] istruebut [R] isfalse                                              ,
(8)     Both [A] a.nd [R] are true; and [R] is the correct explanation Qf [A]
(C)     [A] isfalse,  [R] istrue
(D)     Both [A]  and [R]  are true, but [R] is not the correct explanation of

[A]
(E)    Answer not known

Ou6fl uigrs§ch  [A]

05ITIT6mLb,  [R]

05£6H  Sfrds  ©t9ITuflch  (p(±p  G\d5ITdr6ITonofl®©  65grqu  Sfr
Qd=ch6D65  chLngp.

di#q    Sfr    LDLLSpch    q®u®Lb    9fDp§§ITfqu65coon
a drQGu®FLLb  FT®  G\d=uluiLb

4fr    [A] d=fl,  [R] §Ouer
(8)        [A]  LD®orLb  [R]  0:fl;  [R]  GTchu8H   [A]  ®diIT6FT  0:fluIT6FT  55IT76mLb

(c)       [A]§Ouor,[R]6=fl        ,

(D)        [A]   LD®orLb   [R]  6=fl;  [R]  6TchugH   [A]  ®a5IT6FT  d=fluIT6FT  d5IT76mLDITdiIT8|

(E)      6flcoL Q§flu6fld)co6o

176.  The  pump,  which  permits  the  sewage  solids  to  pass  out  with  Liquid
sewage, without clogging the pump is a

(A)    Reciprocating pump                  {#Centrifugal pump
(C)     Pneumatic Ejector                      (D)  Water pump
(E)    Answer not known

gITOu  d5grqu  S®Ldr  gL  d5givqud5cO6ITuiLb  eigD]LDgds©Lb,  Sflgivcoou  drchLlgp
g-©Lb

(A)       LJflLDITF  @®coou

(c)      dirtyp@S§ @®cOOu

(E)      6flcoL  agflul6flch6n6D
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(8)   6nLDu  ©®6u)6u

(D)  Sfr @®en6u
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177.  For a Reverse -Osmosis Plant, which one of the following statement, is
True
(A)     TDS`offeed stream > TDS of Reject > TDS of permeate
(8)     TDS permeate > TDS of Reject > TDS offeed stream

TDS of Reject > TDS of Permeate > TDS Of feed stream
TDS of Reject > TDS of feed stream > TDS of permeate

(E)    Answer not known

£GB2     ©fflL]LflL®dron     OuITd5flurfudioflch     6TS§     6HIT65fluLb     6Tpfrg=che±®      L]IT6uch     Sfr

disgs5fl L] H  (!pcopds©  5=fl u IT6ngal

(A)       8L6ITL®Sfld>  gLdron  QLDIT§§  d5cOITS§  g6inLD§g6dr  96ITqu  >  LipS§dr6ITL]LILL  Sflch

8Ldr6TT    G\LDIT§§    d56nITS§    gdrLD§gch    a6ITqu    >    ei9]LDgdsd5L]LILL    (eich6Dgp)
G\LiITfl  Sflch  8Ldr6IT  QLDITS§  dicoITS?  gdrLD§g6ir a6ITqu

(8)      e]g]LDg65d5L]L]LL  Sflch   (e])   QUITfl   Sflch   gLdron  G\Lj]ngg   d5cOITS§  gdrLDsgch

e+6ITqu  >  LipS?dronL]LILL  Sfled   ldron  G\LDIT§§  dicoIT¢§  gdrLD§?ch  9GITqu  >
8L6ITL®Sflch  8Ldron QroIT§§  dicoITS? 'gdrLD§gch t9i6ITqu

(c)       LipS§dr6ITL]L]LL      Sflch      gLdr6IT      G\LDIT§?      d5cOITS§      gdrLD§gch      c9H6ITqu      >
e]9]LDgdso5L]LiLL  (c9i)   G\LIITfl  Sflch  8Ldron  QLj]IT§§  d5cOFS§  gdrLD§g6ir  ei6ITqu

>  2L6ITL®Sflch  8Ldron  QLDIT§§  05cOITS§ ggivL.D§gdr eionqu

(D)      Hpi§chonLHLL Sflch  gLdron  QLDIT§§  65coITS?  PdrLD§9dr  eionqu  >  gL6ITL®Sflch
•  8Ldron   QLDIT§?   dicoITS§   pdrLD§gdr   96ITqu  .>   ei9]rogds85LiLILL   (ei)   QLIITJl

Sflch  gLdron QLDrr§§  d5coITS§ gdrLD§96ir eionqu

(E)      6flcoL a?flu6flchcoco

178.  For public water supply, the number on Cobalt scale should not exceed
(A)      10                                                            (8)   15                            .
/ct    c2f )                                                           gTD» C2!h
(E)    Answer not known

QLlngp   Sfr   oflpGUITd5§pch,    Gd5ITLjITchL   ei6IToflch   6T6in6rfldscod5,   ©S§   ei6ITcO6ii   6flL
cflpd5LDITd5  @®6505  thLIT8|

(A)     10
(C)     20
(E)      6flcoL Q§flu6fld)co6D
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(8)   15
(D)  25
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179.  Standard EDTA (Ethylene Diamine Tetra Acetic Acid)  Solution is used
to determine which property of water given below?

(A)    Turbidity of water                    ¢Hardness of water
(C)     Residual chlorine                        (D)  Dissolved oxygen

(E)    Answer not known

EDTA   (Ethylehe   Diamine   Tetra   Acetic   Acid)   dicoITd=ch   £B65s5ITgp]Lb   6TSg
udrcou  d5drLffluiLb qbulofld>  uudru®S§L]u®flpgu 7

(A)       Sflch  s56orijdich  pco6D                                   (B)   Sfl6dr  di+6FT§§chcoLD

(C)       Sflch  gLdron  L6§cedron  ©G6ITITflch        (D)   Sflch  gLdr6IT  d5coITS§  c=bdsflg3dr

(E)       OflcoL Q§fluoflchco6D

180.  Which population forecasting  method is  suitable  to  predict  the  future
population of a young city expanding at faster rate?

(A)     Incremental Increase method
Geometric Increase metho.d

(C)    Arithmetic Increase method

(D)    Comparative graphical method
(

(E)    Answer not known

92®   £cO6ITu    G6u55LDITg5    6u6ITfr¢8HOu®Lb    p657Sg®©    6TSg  `6u6n65u]IT6FT    LDj5d5dr   Q§ITcOs5

(!P®d56fflL]L|  (!PcOP  8=flu IT6UT§IT85  @®ds©Lb ?

(A)      u+(!pcop  QLJ®©Lb  (±pcop

(8)      Qu®dsg5ch  Qu®©Lb  (!pcop

(c)      thLLch au®©Lb t!pcOp

(D)      ®L]LflL®  6ucoFUL (!p6np

(E)      OflcoL Q§fluofld)6na)
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181.  Garret diagrams are prepared based on

(or   Kennedy's Theory                       (B)  Lacey's Theory
(C)     Khosla's Theory                            (D)  Bligh's Theory
(E)    Answer not known

d5ITG\FTL  6u6u7FL] Lrfus5dr  £Bdsd5drL  c65ITLU ITLcOL  LfldrujbF  6u6DITULiuLLgi

(A)        Q85ch6ur+  G85ITLUIT®                                        (B)    G6Den51ch)  G85ITLUIT®

(C)        GapITch]6uITchj  G65ITLUIT®                              (D)   Lglcoonch>  GdiITLurr®     '

(E)      6flcoL G\§flu6flchco6o

182.  Part   of  the   rainfall   that   becomes   direct   runoff  at   the   outlet   of
watershed is

(A)     Direct runoff                               (B)  Natural flow
(C)    Runoff volume                            4Br Effective rainfall
(E)    Answer not known

LDcot9ufldr  82®  u©guflch  Gp fr  Sfr  ®+LLb  oOuof GuorLb  Sfr  Lfl+LjLi   H©g  Sfr  g2LLLb
6Tdr6u ITor  e]cot9dse5L] L] ®flp8] 7

(A)      GpfrSfr ®LLLb

(c)      Sfr all Qd5ITdron6ITqu

(E)      6flcoL a?flu6flchco6D

(8)   ©u®coes ®LLLb

(D)   PS57  LJ)cO9L]G\LJIT£6H

183.  If duty of a particular crop is 864 ha/cumec, with base period of 110 days
then its delta is

110 cm

(C)     220cm
(E)    Answer not known

(8)  55 cm
(D)  864 cm

92®      uuflfldr     LBL+     864     QapdsGLfr/j5gLDds     LDfD8uLb     e]§ch     Ou6ITrfdfl     diIT6DLb
ilo  pITLesdr  6T6fflch  eiL]Llugfl6dr  G\Ld>LIToflch  LDgL]Li

(A)        110  Qd=.Lfi                                                               (B)    55  Q5=.L8

(C)       220  Q8=.Lfi                                                              (D)   864  Qg:.Lfi

(E)      6flcoL Q§flu6flchco6o
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184.  The side slopes of a cippoletti weir is

{#    1 Horizontal 4 Vertical              (B)  1 Horizontal 3 Vertical
(C)     4 Horizontal 1 vertical              (D)  3 Horizontal 1 vertical
(E)    Answer not known

flL]uG6OITL+  @®pcO6mundr  udsd56uITL®  gITul6uIT6FT8j

(A)       1  fl6nLroLLLb  4  ad:ril©Sgal                  (B)   1  @cOLLDLLLb  3  ad=ri]©Sg]

(C)       4  flcoLLDLLLb  1  Qo=riJ©SgH                   (D)   3  flcoLLDLLLb  1  Q6=riJ©Sg|

(E)      6flcoL G\§flu6flchco6D

185.  The depth of water stored in an irrigation tank, rarely exceeds

(A)     4m                                                    (B)8m

(C)    10m                                       i    ¢12m
(E)    Answer not known

SfruITo=on  gflufld>  e]fl§ITdi  cg]g65uLd=LDITo5  G§j5©Lb  Sfldr  c%bE9LDir6FT5]

(A)      4L8                                                                    (B)   8L8

(C)       10Lfi                                                                     (D)   12Lfi

(E)       6flcoL  G\?\flu6flchco6D

186.  The concept of unit hydrograph was introduced by the scientist

(A)    Dalton                                     jrfsherman
(C)     Horton                                            (D)  Thiessen
(E)    Answer not known

®76D© SfrLD  6uco7HLScog eiffl(!p65L]u®S9u  eiFofluajITfr

(A)      LITchLdr

(c)      apITfrLch

(E)      6flcoL G\§flu6flchco6D
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(8)   QapfrLjjITch

(D)  $8:dr

•P



187.  A fluid  in  which  shear  stres`s  is. more  than  the  yield  value  and  shear
stress is proportional to the rate of shear strain (or velocity gradient) is
known as
(A)     Real fluid

Ideal fluid
Answer not known

coon   LD9LcoLJ   OflL   QouL®   ?codi6H
Oflfl§S9®©   Oflfl§IT  O=ITITLDITd56HLb   (

6T6FTc9|cOE9ds65L]LJ®flp8H

(A)        gLdrcoLDUIT6FT PITOuLb

(C)      850Sgud)  uITulroLb
(E)      6flcoL  Q§flu6flchco6D

4rf Ideal Plastic fluid
(D)  Non-Newtoni.an fluid

±=g;rod:¥:ffQIT:i9ff8:g:On®gr®Q§#g

tBj   05®Spuch  Qp@gr  uITulLDLb

(D)  p9LL6ir eich6DIT§ gITOuLb

188.  In a fluid-flow, the stream lines-are lines
(A)    Along which the vorticity is zero
jpr  Along which the stream function T= constant
(C)     Which are.parallel to equipotential lines
(D)    Which exist in irrotational flow only
(E)    Ansiver not known
g7Ou  9LLsgdrGUITgH,  6foL&frLb  cOcodr  6TchL]gu  6TcO§ds  ©Fd;@p8u 7

{£}      g#|%|uchchroHgITuiHquBQ*±:£HIT®  (T)_ch ro9LH PcocouITengr
(c)  .'   d=iDFcO6Dds  GdiITL+®©  @cO6muIT6ngH

(D)       diE96DIT§  pITOu  g2LLsg®©  LDL®GLD  gLfls§IT6ngH

(E)       6flcoL  G\§flu6flch-co6D

189.  The power required to drive a centrifugal pump which delivers 10 L/s to
a height` of 10 in through a 150 mm diameter pipe, the overall efficiency
of pump is 10%, assuming no losses is
(A)     9810kw                                           (B)  981.Okw
tc>_   98.iokw                                    jIr9.8iokw
(E)    Answer not known

8SqITdr:#u    6fl6Dds©   6Tdsfl,   ScoIT   6fl6FT.IT+ds©    io   6fl+LcOIT,    io   L6LLfr   8LUIT§9®9Qs=ch6D           GOudr+                                                                       i5O           L6\.L6.

:#:::Hp%§£:#g:p©gLdi=gg§:=gi#HffiHgr*fo®9L:5:ap:©ITg§On&guchgpchioffg#;:®,,®

(A)     9810kw                                           (B)'981.Okw

P

(C)     98.10kw                                          (D)  9.810kw
(E)      6flcoL Q§flu6flchco60
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190,  The sheet of water flowing through a notch is known as the

#   %i:lppe                                      `(B) #raetsetr |amina
(E)    Answer not known

G\enL®S§Lsgdr  (Notch)  6uf uITd5L]  L]ITuiLb  SfrLDS§s5L+cO6FT  QL]ufr

(A)      u+ (Sill)                                                (B)   cedi®  (Crest)
(C)      SfrsgITdr (Nappe)                                   (D)  SIT®d;©

(E)      6flcoL  G\§flu6flchco6D

191.  Bernoulli's equation is expressed as follows

(A)     P+i+27=constant      `
Z„28

(8)    #+i+z=constant28

tc,    fi+i+z=constant
Z„28

'` u2i + - + z = constant
Zt'      28

(E)    Answer not known

G\ u fr6FTIT6fl6fo  d=LDchu IT®  £Bdsd5drL6u ITgpr  6Tce§6DITLb

(A)      P+++Z=LDITF6fl
Z„     ,28

\

(8)     #+i+Z=roITPof28

(C)

CECE/2024

I)2fi+-+z=roITF6fl
u]      -Zg

z'2¥ + -+ Z = LDIT$6fl
Zt'     29

6flcoL  Q§flu6flchco6D
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192.  The  method  of  valuation  which  is  adopted  to  value  underdeveloped
properties is known as                                                                                          i

(A)     Depreciation method of valuation
(8)     Valuation based`on cost

Development method of valuation

(D)    Rental method of valuation
(E)    Answer not known

Ou6ITfrSflucoLUIT?  Q6=nggbdsdicoon  LDgL]Ls®  Qd=uluiLb  (p;p  6TdrL]5i

(A)       GSulLDITen  cecop

(8)       G\§ITcOs5  cecop

(C)       GLDLbuITL®  (!PcoP                   `

(D)       ouITLcoe5  cOcOP

(E)      6flcoL Q§flu6fld)co6D

193.  In a detailed estimate the provision for work charged establishment is
usually

(A)     5% ofestimatedcost
(8)     3to 5% ofestimatedcost
(C)     10% of the estimated cost

joy   1.5% -2% of the estimated cost
(E)    Answer not known

®®    6flfl6uIT6FT    LjjgL]if®    guITflds©LbQUIT(±98u    G6ucO6D    d:ITfrS§    u6ofluITonfrs5(8dsdiIT6FT
®gJ55£®

(A)      $6mds£®  Glo=uluL]uLL96ir  5%

(8)      s56ma;£®  Qg=uluuLL9ch  3-6@®Sgu  5%

(C)      s56mds£®  Q8=uluLjuLL9ch  l0%                                                                         '

(D)      g56mds£®  Qd=uluLILL96ir  1.5%  6fl®Sg  2%   6u6DF

(E)      6flcoL Q§fluofld)co6D
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194.  For  residential  building,  the  liveable  area  should  be
plinth area with a target of 65%.

(A)     40%to50%
tyfr    Ff Ioioto errvo                                      `

(C)     20%to35%

(D)     90%tol00%
(E)    Answer not known

of the

®®   ©+ufl®LjLi   55L+Lsg6ir   ,   6uITE9ds   th+u   L]FLjLi   e]§6ir   QLDITS§   eel+L   u7L]Lgch
e+onquLb  gLdd:  cg]onq    65%  c2bd5quLb  @®dses  G6udr®Lb.

(A)      40% (!pgch  50% 6ucoIT

(8)      50% cp§ch  65% 6uco7

(C)      2®% cp§ch  35% 6ucoIT

(D)     9o%ce§ch  loo%6ucO7

(E)      6flcoL Q§flu6flchco6o

195.  Minimum width of septic tank not less than

(A)     50cm
60cm

(C)     70cm
(D)     100cm
(E)    Answernot known

05#qu  Sfr§  Q§ITL+ufldr ©cOpS§uLd= e]056OLb

(A)       50Qd=.L§.

(8)  -    6o  a5=.Lfi.

(C)       70  Qo:.Lfi.

(D)       100Q6=.LB.

(E)      6flcoL G\§flu6flchco6o
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196.  If original cost `c', scrap value, `s' and life of the property in years `n' then

Annual depreciation `D' is                                                                                 .

D=Cfi
7}

(8)     D=S-C
7}

(a)   D-Cfl
S

(D)    D-Sip
C

(E)    Answer not known

g2®   G6ucoon  5]d=ch   G\6=6oqu§   Q§ITcotE   `c',   d5£6H   LDgL]H   `S'   ro®grLb   Qd=ITsgch  6uITBquds

95rr6DLb  c%6in+ch  `n'  6T6fled  Ou®LITSg7  LDgL]Lgt9L]Li  `D' @8|6uIT©Lb.

(A;)    D-Cfi
71

(8)   D==
7?

(a)    D-Cap
S

(D)     D-SX„
C

(E)       OflcoL  G\gfluoflchco6D
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197.  The  approximate  quantity of out-turn of Brick work is lime or cement

mortar in superstructure per day per mason is

(A)      1.25cu.in

1.00 cu.in

(C)     0.90cu.in

(D)     1.30cu.in

(E)    Answer not known

di6dr6mITLbLi     eich6Dgp     flQLD6drL     d5ITcOITcOuL]     LluchLI®§gu     Q6=rijo;ch     GLD®d5LLL

Gouco6Duflch    ®®   pITcoonj5©   ®®    Qo5ITS§6FTITflLLb   @®Sg]    G§IT7ITULDITdi   QupL]u®Lb

Q6uoflL]uIT®  cg|onqu  @g|ourr©Lb

(A)      1.25cu.in

(8)     1.00cu.in

(C)     0.90cu.in

(D)     1.30cu.in

(E)      6flcoL Q§flu6flchco6D
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198.  Precedence network is also known as

(A).    A-O-A

(8)    A-N-O

A-O-N

(D)    A-A-O

(E)    Answer not known

(±pch9] flcoLD  d5LLcOLDL Li  6TdrLj9i

(A)    A-O-A

(8)    A-N-O

(C)    A-O-N

(D)    A-A-O

(E)     `6flcoL  G\§flu6fld)co6D
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199.  Any  portion  of a  project  which  consumes  time  or  resource  and  has  a

definite beginning and an end is called

(A)     Event

(8)     Network

Activity

(D)     Logic

(E)    Answer not known

®®  gLLL]u6nduflch  9G§g]Lb  ®®  Lj©9  GPITScog  c9ichco8j  6Honrijd56D6ITd  ad=6Oougr$5]

gL.LOuLLLjjIT6{IT   a?ITLdsd5§cO§uiLb   (!p+cOouquLb   Q05ITdr®drongp   6T6fflch   ei5i   6Tdrourrgri

cglcoEgdsdiL]u®flpgH?

(A)      F55#qu

(B)        OucO6DLfl6dr6FTch

(C)       Qd:uchLJIT®

(D)     QPFcp6utp

(E)      OflcoL  Q§fluoflchco6D
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200.  Pessimistic time = 7, optimistic time = 3 and most likely time = 5, then

find the expected time

(8)    -4

(C)6

(D)7

(E)    Answer not known

c9|OuPLbL9j5cO05uIT6FT    GPFLb     =     7,    PLbL9dscod5uIT6FT    GPITLb     =     3     LD®8HLb    QLJ®LbuIT8HLb

GPFLb  =  5,  6Toflch  6TgfruITfrd;©Lb  GpgTLb  6Tdru8H

(A)5

(a)4

(C)6

(D)7

(E)      6flcoL Q§flu6flchco6D
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Read the following instructions carefully before you

[Total Marks : 300

begin to answer the questions.

IMPORTANT INSTRUCTIONS

Youwinbesupphedwiththisquestionbooklet15minutespriortothecommencementoftheexamination.
This question booklet contains 200 questions. Before answering the questions, you shall check whether
all the questions are printed serially and ensure that there are no blank pages in the question booklet. If
any defect is noticed in the question booklet, it shall be reported to the invigilator within the
first 10 minutes and get it replaced with a comple-te question booklet. If the defect`is reported
after the commencement of the examination, it will not be replaced.
Answer all the questions. AIl the questions carry equal marks.
You must write your register number in the space provided on the top righ.t side of this page. Do not
write anything else on the question booklet.
An  answer  sheet  win be  supplied  to  you  separately by  the  room  invigilator  to  shade  the  answers.

EEEmERI RERIillRIHHmidEH  RIHE  EELnHRIHRI Hill HillE
You shall write  and  shade  your  question booklet number in the  space  provided on page  one  of the
answer sheet with BLACK INK BALL POINT PEN. If you do not shade corre.ctly or fail to shade the
question booklet number, your answer sheet will be invalidated.
Each question comprises of five responses (answers) : i.e.  (A),  (8),  (C),  (D) and (E). You have to sel;ct
ONLY ONE  correct answer from  (A)  or  (8)  or  (C)  or  (D)  and shade  the  same in your a.nswer sheet.
If you feel that there are more than one correct answer,  shade the one which you consider the best.
If you do -not know the answer, you have to mandatorily shade (E). In any case, choose ONLY
ONE answer for each question. If you shade more than one answer for a question, it will. be treated as,a
wrong answer even if one of the given answers happens tb be correct.
You should not remove or tear off any sheet from this question booklet. You are not allowed tb take this
question booklet and the an;wer sheet out of the examination room during the time of the examination.
Afte.r the  6xamiLatio_n.  _You  niust Hand _over your  answer _s_beet to _th_e  invig_i|ator.  YQ+I  are  allow!z£±±Q
talk_e_____the a_uestion booklet _with you onl,y after the exa_minaLkyn___i_s_+|ze±

9.       You should not make any marking in the question booklet except in the sheets before the
last page of the`question booklet, which can be used for rough work. This should be strictly
adhered to.
In all matters, the English version is final.
Failure.to 'comply  with  any  of the  above  instructions  will  render  you  liable  for  such  action  as  the
Commission may decide at their discretion.


